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Question Number : 1 Question Id : 92775914609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
PLJ, MOG, JRD, GUA, CXX

Options :
1. ¥ CXX
2. % JRD
3. ¥ MOG
4. % GUA

Question Number : 1 Question Id : 92775914609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, Fo s 9§t e 7Tad ¢ | fau 7 faswed § ¥ 39 7ad ue &1 gi-u|
PLJ, MOG, JRD, GUA, CXX

Options :
1. ¥ CXX
2. % JRD
3. ¥ MOG
4. % GUA

Question Number : 2 Question Id : 92775914610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AO19,HV33, 0C21, VJ35, ?

Options :
1. % CQ24
2. % CJ17
3. ¥ CQ23
4. % CI21

Question Number : 2 Question Id : 92775914610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SrgepH foran e B, o 9 U Ue @ 71| o T e & @ 9 O Reved 3T, S sigmu A g a
AO19, HV33, 0C21, VJ35, ?

Options :

1. ®* CQ24
2. % CJ17
3. CQ23
4. % CI21

Question Number : 3 Question Id : 92775914611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PMR, LIM, HGH, DDC, ?

Options :

1. ¥ WBX

2. % XCY

3. ¥ ZAX

4, % YDZ

Question Number : 3 Question Id : 92775914611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3IehH foar T B, Fora § U Ue g 8| fau U fased & O o 9e! fawed gg, S 3 gehH & IR 1|

PMR, LIJM, HGH, DDC, ?
Options :

1. ¥ WBX

2. % XCY

3. ¥ ZAX

4. ¥ YDZ

Question Number : 4 Question Id : 92775914612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PNTU, NLRS, LJPQ, JHNO, ?

Options :

1. % IEON
2. ¥ HFLM
3. ¥ JGMO
4. ¥ KHNP



Question Number : 4 Question Id : 92775914612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |

PNTU, NLRS, LJPQ, JHNO, ?
Options :

1. % IEON

2. ¥ HFLM

3. # JGMO

4. % KHNP

Question Number : 5 Question Id : 92775914613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related words from the given alternatives.
Cup : Crockery :: Sharpener : ?

Options :

1. ¥ Stationery

2. % Pencil

3. ¥ Rubber

4. ¥ Paper

Question Number : 5 Question Id : 92775914613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us o fqu 7T fashedl § 9 Heiferd el 1 gHT|
B : BB :: MUR : 2

Options :

1. ¢ SEA-gHUl

2. % Ry

3. # Y98

4, % DA



Question Number : 6 Question Id : 92775914614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
PONG : NPLH :: HATE : ?

Options :

1. # FCRF
2. ¥ FBRF
3. ¥ EBRE
4. ¥ ECRF

Question Number : 6 Question Id : 92775914614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy & fau e fawedl & O Hafdd sieRi &1 giHu|
PONG : NPLH :: HATE : ?

Options :

1. ®* FCRF

2. ¥ FBRF

3. ¥ EBRE

4. % ECRF

Question Number : 7 Question Id : 92775914615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
POEM : RIRR :: ?

Options :

1. % HANG : LRDF
2. % LOMP : UQQN
3. ¥ TIRX : CVLV
4. % MATB : GXXO



Question Number : 7 Question Id : 92775914615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & foT 77T fowedl § 9 e sfeR g &1 gHu|
POEM : RIRR :: ?

Options :

1. % HANG : LRDF

2. % LOMP : UQQN

3. ¥ TIRX : CVLV

4. % MATB : GXXO

Question Number : 8 Question Id : 92775914616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
HIM : SFK :: PAN : ?

Options :

1. % TWS
2. ¥ TXS
3. % TXR
4. % TWR

Question Number : 8 Question Id : 92775914616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad oy & fou T et & 3 Tefira sieri &1 gfu|
HIM : SFK :: PAN : ?

Options :

1. % TWS

2. ¥ TXS

3. % TXR



4. % TWR

Question Number : 9 Question Id : 92775914617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FOUGHT’ is written as ‘GSTFLU’, ‘JACKET’ is written as ‘GVPXZQ’. What is the code for ‘NICELY" in that
code language?

Options :

1. ¥ OBXVRM
2. % BOVXMR
3. ¥ BOVXRM
4. %#* BOVYRM

Question Number : 9 Question Id : 92775914617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARV B8 HIWT H, ‘FOUGHT’ &1 “GSTFLU’ feRaT ST 8, JACKET® & ‘GVPXZQ’ forar SITd1 81 59 hIg HIST | “NICELY’ &1 HIS
T 82

Options :

1. ¥ OBXVRM

2. % BOVXMR

3. ¥ BOVXRM

4. ® BOVYRM

Question Number : 10 Question Id : 92775914618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘BUNCH’ is written as ‘87°, ‘CROWN? is written as ‘62’. What is the code for ‘DRAWN” in that code language?
Options :

1. % 65

2. % 68

3.9 75



4. = 78

Question Number : 10 Question Id : 92775914618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARSI HINT H, ‘BUNCH’ ! 87" foraT ST 8, ‘CROWN® 1 *62” ToraT ST g1 $ IS HINT H ‘DRAWN® T HIS T 57
Options :

1. %® 65

2. % 68

3.¥ 75

4, % 78

Question Number : 11 Question Id : 92775914619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘OKEY’ is written as ‘780°, ‘WISE’ is written as ‘768’. What is the code for ‘COKE’ in that code language?
Options :

1. % 264

2. % 296

3. ¥ 288

4. % 304

Question Number : 11 Question Id : 92775914619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fIfRE ®IS YW &, “OKEY” &1 *780° foraT ST 8, *WISE® &1 *768° foral SITa1 81 $9 HIS U H ‘COKE’ H1 HIS F1 57
Options :

1. % 264

2. % 296

3.9 288

4. % 304



Question Number : 12 Question Id : 92775914620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FRAME’ is written as ‘7°, ‘JUDGE’ is written as ‘11°. What is the code for ‘MAJOR’ in that code language?
Options :

1. % 8

2.¥ 12

3. % 14

4. % 10

Question Number : 12 Question Id : 92775914620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fafR19 B U H, ‘FRAME’ &1 <7 feraT ST &, “JUDGE’ &1 *11° foraT STl 5 1 §9 1S U H ‘MAJOR’® &1 HIS F1 62
Options :

1. % 8

2.9 12

3.% 14

4. % 10

Question Number : 13 Question Id : 92775914621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PHONE x MEAN” is written as ‘20°, ‘FACT x HARDEST” is written as ‘28’. What is the code for ‘ANY x TIME’
in that code language?

Options :
1. % 8
2. % 24
3.4 12
4. % 16



Question Number : 13 Question Id : 92775914621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY ®Ig YW H, ‘PHONE x MEAN’ 1 20° foRaT ST 8, “FACT x HARDEST’ ) <28 foRal ST 8 1 39 1S HIWT H ‘ANY x TIME’
BT HIS FT ]2

Options :

1. %8

2. % 24

3.¢ 12

4. % 16

Question Number : 14 Question Id : 92775914622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row at a bus stop, ‘A’ is 7th from the left and ‘B’ is 9th from the right. They both interchange their positions. Now A becomes 11th from the
left. How many people are there in the row?

Options :
1. ® 10
2. %20
3.4 18
4. % 19

Question Number : 14 Question Id : 92775914622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y WIT IR TH UG |, 'A' 913 3R 7971 8 3R 'B' ST T 9d WIF W g1 ST 3T RIT P ST deail R ¢ 1379 A 918 R Y 1137 8
ST & | dfaa & ford= =afaa g2

Options :

1. * 10

2. %20

3.4 18

4. % 19




Question Number : 15 Question Id : 92775914623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J is the mother of R. K is the only child of F and L. M is the brother of R and L.
Which of the following statement(s) is/are correct?

L. L is the father of K

II. J is the mother of L

III. L can be the daughter of J

Options :

1. % Il and III
2. % [, Il and III
3. % Only I

4. % Only III

Question Number : 15 Question Id : 92775914623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J,REIAMIZI K, F AT L & THAR G 81 M, R TUT L HT HTS B
fruffad & 9 S 918 $uT 98l /87

LL K& fUarg

IL), LB AES

101 L, ] & T 81 Taheil §

Options :

1.« T aUT I

2. % 1[I JYTIII
3. % Had [
4. % Had 11

Question Number : 16 Question Id : 92775914624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 boys A, B, C, D, E, F, G and H are sitting in a row facing towards north (not necessarily in the same order). E is the immediate neighbour of B



and F. Only 4 boys are sitting between C and E. A is second to the left of D. C is towards the right of E.
If H is not towards the right of E, then which of the following statement(s) is/are not correct?

L. 3 boys can sit between B and G

II. H is fourth to the left of A

III. 2 boys can sit between C and A

IV. G is to the immediate left of A

Options :

1. # T and III
2. % IIl and IV
3. #* Il and III
4. % Jand II

Question Number : 16 Question Id : 92775914624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 ASH A, B, C, D, E, F, G TUT H TP Ufedd & IR DT 3R TG b 96 gU & (SRes] o] 1 391 A A 81| E, B TUTF HI (Hdbead TSR g
cam%nwémamﬁé% g1 A, D P S IR A B1 C, E & G 3R g

g H, E ¥ el IR TR 3, ?ﬁﬁqﬁfl@ﬂﬁﬁaﬁquéaﬁwwqﬁﬁﬁ®
L BAUT G P AW 3 ASP 96 Thd o

IL H, AP TRff 3R AT

[Il. C TUT A & A 2 TSP 96 JPbd o

IV.G, A % qd 9t 3R §

Options :

1. % [T

2. ¢ I AUTIV

3. % [ AU

4. % [TUTII

Question Number : 17 Question Id : 92775914625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series logically:
30, 42, 56, 72,90, ?



Options :
1. % 90

2. %100
3.4 110
4. %1010

Question Number : 17 Question Id : 92775914625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad e yadr &1 difhs ©u § /B
30, 42, 56, 72, 90, ?

Options :
1. % 90
2. %100
3.4 110
4. % 1010

Question Number : 18 Question Id : 92775914626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of 5 or 6 members is to be formed from 6 boys : B1, B2, B3, B4, BS and B6 and 5 girls : G1, G2, G3, G4 and G5. Minimum two boys
should be in the team. G1 and G4 should not be in the same team. Only one among G2, B3 and B6 should be selected. B2 and G5 should be in
the same team. G4 can be selected with either B1 or B5. Either G1 or G2 should be in the team.

Which of the following can represent the members of the team?

I. G4 B1 B2 G5 B6 B5

II. B1 G1 B6 B4 G4

III. G3 G2 G5 B2 B5 G4

IV. B4 B3 G1 G3 B2 G5

Options :

1. % Tand II

2. % II, Il and IV

3. % LIland IV

4, % Il and IV



Question Number : 18 Question Id : 92775914626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 AS®! : B1, B2, B3, B4, BS 04T B6 AUT 5 WSl : G1, G2, G3, G4 AU G5 T 5 T 6 I &1 U S ST o1 g | SH A dH A HH Gl
TSP B TMRYI G1 U1 G4 FHM A 1 81 =1TRTI G2, B3 GUT B6 H & ael T g1 91 AU B2 GUT G5 FHM S # g1 =gl
G4 B AT B1 AT B5 & A1 AT ol Gbdl g1 AT G1 AT G2 EH H g1 1|

frafied & 9 &1 9 <1 & Yl & g1 Fad g2

I. G4 B1 B2 G5 B6 B5
II. B1 G1 B6 B4 G4

III. G3 G2 G5 B2 B5 G4
IV. B4 B3 G1 G3 B2 G5

Options :

1. % IdUTII

2. % LI dUT IV
3% LINAUTIV
4, ¥ I dUTIV

Question Number : 19 Question Id : 92775914627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some men are human.

II. No animal is human.

Conclusions:

I. Some men are not animal.

II. No human is animal.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. ¥ All conclusion follows

4. % Neither conclusion follows



Question Number : 19 Question Id : 92775914627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy & 58 U 3R 39D 918 31 Bl R MUTRT & (5h QU MU | 3T T FHy=1 oI 91 AM, 1e 379 AE= 1 a2t
3 firerar 811 gt e ue SR fiRR Faffea &% o fau o o1 T fse, 3T 71T AT & STyR R gfeaia 8|
DHY-:

L $8 Y A]Y ¢ |
1. ®Is Y SR TeI gl
lH H®

I.@w.geau SIECRERIE
1. B1E Ht A SR el B

Options :

1. # $Had [T5HY [ 3IERV Hdl §

2. % Had fHY 11 TR0 HdT &

3. ¢ gt Feeef SreRr R ©

4. % I3 U Iy SR T8l HraT §

Question Number : 20 Question Id : 92775914628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I.NoQisR.

II. No Fis Q.

Conclusions:

I. Some F are not R.

II. Some Q are not F.

III. No R is Q.

Options :
1. % Both conclusion I and II follows

2. % Only conclusion III follows



3. % Only conclusion II follows
4. ¥ Both conclusion IT and 11 follows

Question Number : 20 Question Id : 92775914628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Uy H @ U 3R I 918 31 HUHI IR SAUNRG & (5pY 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

DHY-:

.3 QRS &I
1L P15 W E QR BI
fep:

. $SF,RTG ol

IL. $3 Q, F gl g
1L ®s Hi R, Q TET B

Options :

1. % Q! 5By 1 YT 1T SRRV HRd §
2. % Had (Y [11 SIERUT Fal &

3. % Had FT5HY 11 IRV B §

4. G FTSHY 11 QT 111 S{TER0T A &

General Ability2

Group Number : 2

Group Id : 927759504
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 927759540
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759671
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775914629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

[. No T is K.

II. No Fis N.

III. NoNis T.

Conclusions:

. NoKisF.

IT. Al T are F.

III. NoNis F.

Options :

1. ¥ Only conclusion III follows

2. % Both conclusion II and III follows
3. # Neither conclusion follows

4. % Only conclusion II follows



Question Number : 21 Question Id : 92775914629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 foU T Uy T 58 U 3R 39D 918 31 Bl R SR & (bt U MU g1 3T Tyl &1 9! 4M, 31e 374 AH 1 a2t
3 forzrar 81t e o oik fsR fReifa & 6 fou o o1 3 s, fou U syl & sMuR &R gfaasa g

HY:

1.3% W T, K TR g

1. s i F, N TSR

1L &5 N, TS 81

fean:

1. ®ig Wik, FTEI &I

LI T, F 8l

1. ®s N, F T8 81

Options :

1. ¢ Had 5BY 111 3IER0 HT §
2. % QI FSHY I TUT 111 SIIERU Hd §
3. % I3 Wt Fpy SR 78 Sl §
4. % $Had T5HY [1 S0 HT &

Question Number : 22 Question Id : 92775914630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some G are D.

II. No K is M.

II. NoM is G.

Conclusions:

I. Some M are not K.

II. Some G are not M.

III. Some D are not M.

Options :



1. #* Both conclusion I and II follows
2. % Only conclusion III follows
3. #* Neither conclusion follows

4. " All conclusions follow

Question Number : 22 Question Id : 92775914630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H 8 U 3R I 918 31 HUHI IR YRG5 56y 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg 1 9
3 frzrar 81t e o ofk fisR fReiia & i fou o o1 @ s, fou U sy & smyR &R gfaaa g
DHY-:

L. %3G, D3I

1. ®ig K, M8 81

1L BT WM, G T8l g

fsep:

L $E M, KTl gl

IL. %3 G, Mgl gl

III. $& D, M Tel &

Options :

1. % QI FT5RY 1 T 11 3FIERU $H1d &

2. % Had fHY 111 3IIRU Sl §

3. % B3 Wt Fpy SRR 78 St §

4. ¢ 9} Fp s SFRIRUT %l §

Question Number : 23 Question Id : 92775914631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some red are yellow.

II. Some pink are orange.

III. All red are orange.



Conclusions:

I. Some red are pink.

II. Some orange are pink.
II1. Some yellow are red.

Options :

1. # Both conclusion I and II follows
2. ¥ Both conclusions IT and III follow
3. # Both conclusion I and III follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 92775914631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu Tu Uy T 9 U 3R I 918 I HYA WR TR F& ﬁwﬁﬁqwélﬁqW$ﬁﬁﬂﬁwﬁdlsdﬂHﬂlleqmdaw‘r
@rmﬁmﬂﬂﬁr&ﬁﬁﬁaﬁ?ﬁﬂﬁ%ﬁ%aﬁ%ﬁsﬁqwﬁqﬁﬁw%qu%ﬁr%aﬂmmqm

11, 5 e G ¥
11 g I G €1
fsep:

[ $S AT T g

II. $B Y e g

1. $& G aa ] |

Options :

1. % Q! F5BY 1 YT 1T SRRV $HRd &

2. ¢ I FISHY 11 QT 111 3FIERUT 63l §
3. % GHI FSHY 1 qT 111 3IERUI HRd §
4. % B1g Wi Fepy 3ERUr el BT ?

Question Number : 24 Question Id : 92775914632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.



—49,-43,-37,7?,-25
Options :
1. % =30
2.9 31
3. % 27
4. % 26

Question Number : 24 Question Id : 92775914632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer & <1 7 @ & 9 g 8f 1d S|

—49, 43,-37,7,-25
Options :
1. * =30
2.9 31
3. % 27
4. % 26

Question Number : 25 Question Id : 92775914633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By interchanging the given two numbers which of the following equation will be correct?
1 and 4

Options :

1.¥9+1+4%x8-2=39
2.%0+4+1x8-7=2
3.% 7+1+2x4-3=7
4. % 7+1+4x8-2=33

Question Number : 25 Question Id : 92775914633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 et ) et bl SUY H IR deaq WR Rufafad # 9 oF a1 gHie0 I8l g
| qUT 4

Options :

1.¥9+1+4x8-2=39

2.%0+4+1x8-7=2

3.8 7+1+2x4-3=7

4 % 74+1+4x8-2=33

Question Number : 26 Question Id : 92775914634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
570, 547, 576, 545, 584

Options :
1. ¥ 547
2. % 576
3.9 584
4, % 545

Question Number : 26 Question Id : 92775914634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fo s & v ue 7o ¢ | fou e faswed & ¥ 39 71ad ue &1 gi-u|
570, 547, 576, 545, 584

Options :
1. % 547
2. % 576
3. ¥ 584
4, % 545

Question Number : 27 Question Id : 92775914635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

7 |1% | 30
141 12 | 3
911 & | 15
2 | 228 |02

Options :
1. % 156
2. % 276
3. % 182
4.9 224

Question Number : 27 Question Id : 92775914635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad oy o fau e faw et & O vy frg (2) o RIM IR 3 aTell W= &1 gl

7 1 | 19
14| 12 | 3
91 & | 15
? 1228 | 102

1
1

Options :
1. ® 156
2. % 276
3. % 182
4.+ 224

Question Number : 28 Question Id : 92775914636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.



Red, Colour, Lion
Options :

QD

(0)o
Q0O
4. % O

Question Number : 28 Question Id : 92775914636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3RW T S i U U ol & o9 & ddY &1 et fAeuur Har g



Options :

@

(0)o

oJo
4, # O

Question Number : 29 Question Id : 92775914637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many brown are not white?



Lad

11
Yellow / White
14 T
12
8 10

/ 7 ]

Brown

Options :
1. %7
2. % 15
3. % 26
4. v 21

Question Number : 29 Question Id : 92775914637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpa ¥ T T8 82
3 11
e qhe
14 L/
12
8 10
/ 7 6
g
Options :
1. % 7

2. % 15



3. %26
4.v 21

Question Number : 30 Question Id : 92775914638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is incorrect?

Grapes Guava

"o N
N A

Tomato

Options :

1. # Number of guava which are only grapes are 10
2. # Total number of tomato are 34

3. ¥ Number of grapes which are not tomato are 13

4. ¥ Number of tomato which are neither grapes nor guava are 9

Question Number : 30 Question Id : 92775914638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foR T 3 3T & SR WR, FAufafad & & 1 Y= el gl 82



3;|'1-B AES

3%?
. 11 \6

Options :

1. % T8 3G Sl had 3R &, BT IBAT 10 §

2. % THCI B! Hd YA 34 §

3. % g 3R N cHICR EI §, B G- 13 §

4.« g THICR Sl AT 81 3R & -1 81 3EG & &1 4T 9 §

Question Number : 31 Question Id : 92775914639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

| Cup

[

Glass
7

a(sf s ] )
NV

Bottle —

Options :



1. # Total number of glass are 34
2. % Number of cup which are not bottle are 17
3. % Number of bottle which are atleast glass are 5

4. ® Total number of cup are 11

Question Number : 31 Question Id : 92775914639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 U 39 3T & MYR W, FufRad 7 ¥ &9 91 HU= T8t 82

5
=G L] Xl
,,
AR
11 8 3 9
& /
Options :

1. % AN & Ho AT 34 §

2. 98 HU Sl SIdd -8l &, Bl IBAT 17 8

3. % GEAIdA ol PH A HH A I 8, P! BT 5 §
4. % FUD GG 11 8

Question Number : 32 Question Id : 92775914640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are incorrect?
I. Number of bike which are not green are 14.



II. Number of yellow which are green are 15.

P Bike

.

4 N A
4 1

Yellow — Gireen

Options :

1. % Only I

2.9 Only II

3. % BothIand II
4. % Neither I nor I

Question Number : 32 Question Id : 92775914640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&0 T 39 3T & YR W, FUfRad 7 ¥ &1 I/ Hy= I8! T81 8/82
1. 98 ITS ol 831 11 §, B! T 14 T
1. 98 WA N 88, DI TJAT 15 B

AN
14\15A
AV




Options :

1. % FHadl
2. ¥ Had Il
3. % [T I gl
4. % qGIIATRIII

Question Number : 33 Question Id : 92775914641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

>

Options :




Question Number : 33 Question Id : 92775914641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I 1P < TS SHfaal & THH 72

e

Options :

1. ¢



Question Number : 34 Question Id : 92775914642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

X @ B

o 00 o
® o A 0o S o 9

A X Al

Options :




\
NI
1. ® ﬂ
O
A4l
2. % E
\_
[ D
3 % E i
S
Al
4. E

Question Number : 34 Question Id : 92775914642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(::) & ST SR 1 Rt & it fopedt adh/MomAddy I defid 51 fdd T fadedi O 9 () & il 3R 0 adb/MadAsy iR sruia
q 3T fd BT g |

E o e o0 E o
$ o A o0 o o ?
A X Al
Options :
\_
NI
L4
)
4]
H
2. %
\_
[D>
3. % E




Question Number : 35 Question Id : 92775914643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

T
XN |<—

%

Q

3. ¢



Y| >
Al

Question Number : 35 Question Id : 92775914643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, faw e fowed! & 3 fawwm siefa &1 gHT|

T
M |<4—

%
2.$$Q




Ly

A

>
S

Question Number : 36 Question Id : 92775914644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

RMT
=2
HOP

H® 2
RESP
3.6 °F

3P
HE&2T
RO 2

H N2
RFEZP
30T

Options :




Question Number : 36 Question Id : 92775914644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau 7T fomedl O 9 Uy i (2) & RIM R 3 arelt 3Tdhid &1 gl

? Ra==DP




Question Number : 37 Question Id : 92775914645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 8 equal cuts are made on each axis of a big cube, then how many small cubes will be obtained?
Options :

1. % 512

2. % 343

3. % 1000

4. ¥ 729



Question Number : 37 Question Id : 92775914645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife T 98 U9 Bt TP 318 TR 8 SRIER held A 7Y &, Y fha BIe o7 Ui gl
Options :

1. % 512

2. % 343

3. % 1000

4. 729

Question Number : 38 Question Id : 92775914646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, which of the following cube can be formed?

G
AlX
917

Options :



3 \=\
AN



Question Number : 38 Question Id : 92775914646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&0 7T ST B Arsa & uyTd, FufeiRad & @ S 91 99 S5 S Iehdl 82

G
AlX
917

Options :

2.¥



4, %

Question Number : 39 Question Id : 92775914647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :



Question Number : 39 Question Id : 92775914647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DI T IR AP U 3Mpfd & Ufaey o R 32

(?

Options :




Question Number : 40 Question Id : 92775914648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

:

@)
5T
“loe
["‘--.

A=<TITSSITYT B
Options :






Question Number : 40 Question Id : 92775914648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T U DI AB TMT IR IWT MY, <1 &1 T8 ST SHIadl # B AT 3Mpid U pfa &1 et ufafda grme
N_L ]
0IR&lL
| —— (1 —

A=<TTTTYTTYTYT B
Options :




Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Awarenessl1

3
927759505
0

0

No

No

0

20

No

General Awarenessl



Section Id : 927759541

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759672
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775914649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kashi Vishwanath temple is located in
Options :

1. % Chandigarh

2. % Ahmadabad

3. % Varanasi

4. ¥ Guwahati

Question Number : 41 Question Id : 92775914649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRIfayyafer . AR@Ag
Options :

1. % 93Tg

2. % SlgHaldlq

3. ¢ ARV

4. % T[ATgId!



Question Number : 42 Question Id : 92775914650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Adiperukku festival is associated with which state?
Options :

1. # Karnataka

2. % Tamil Nadu

3. # Telangana

4, % Assam

Question Number : 42 Question Id : 92775914650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MMfETTaE AIeR forg ITT T afdd 82
Options :

1. % FlcH

2. ¢ AeArg

3. % qETH

4. % 3AHYH

Question Number : 43 Question Id : 92775914651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following dance belongs to Goa?
Options :

1. # Tharu

2. ¥ Dekhni

3. # Yakshagana

4. % Chhau

Question Number : 43 Question Id : 92775914651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafoiad # I &9 1 7 a1 3 Jefda g2
Options :

1. % YR

2. ¥ el

3. % &

4. % BIS

Question Number : 44 Question Id : 92775914652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The musical instrument ‘Raunza’ belongs to
Options :

1. # Uttar Pradesh

2. # Gujarat

3. % Andhra Pradesh

4. ¥ Maharashtra

Question Number : 44 Question Id : 92775914652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIGKCIEUERREE RESCIRGES
Options :

1. % WU

2. % TSRId

3. ¢ Y TS

4. % HeRTY

Question Number : 45 Question Id : 92775914653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



‘Swang’ dance belongs to which state?
Options :

1. ¥ Odisha

2. ¥ Haryana

3. # Andhra Pradesh

4. ¥ West Bengal

Question Number : 45 Question Id : 92775914653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G 9 fpg T § Hefda g2
Options :

1. % 3

2. R

3. % 3ffs e

4. % UiEH SIS

Question Number : 46 Question Id : 92775914654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
National Income can also be called
Options :

1. ¥ Net National Product at factor cost
2. # Net National Product at market cost
3. % Gross national product at factor cost

4. # Gross national product at market cost

Question Number : 46 Question Id : 92775914654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS 31 P NG

Options :



1. ¢ BRS ANTd R ad APg Iadre
2. % SR Td R Aad Agig Iare
3. % PR AN R Fehel AP TG
4. % SR AN W obd AP IATG

Question Number : 47 Question Id : 92775914655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding Monopoly in the market?
I. Monopoly firm is a price maker
II. There is a single buyer in monopoly

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 47 Question Id : 92775914655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IVR H TIIeR & e & Fufefad 7 9 o9 91 5y 93 82
1. Tp1ieRl vd a8t @
1. UhTIBR & U 8l shal gl @

Options :

1. ¥ FHadl
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 48 Question Id : 92775914656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the size of the 20 rupees note of the Mahatma Gandhi (new) series?
Options :

1. % 63 mm x 129 mm

2. % 65mm x 140mm

3. % 63mm x 120mm

4, % 66mm x 129mm

Question Number : 48 Question Id : 92775914656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTE Mt (75) 4T/AT & 20 TYY & e BT 3HR 1 82
Options :

1. ¥ 63 mmx 129 mm

2. % 65mm x 140mm

3. % 63mm x 120mm

4, % 66mm x 129mm

Question Number : 49 Question Id : 92775914657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct regarding Minimum Support Price?
L. It is declared by the government every year after the harvesting season.
II. Minimum Support Price is the price at which government purchases crops for the farmers, to safeguard the interests of the farmers.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 49 Question Id : 92775914657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A THE g & el §f Fufafad o 9 &1 w1 a8t 78l 82
1. U0 9 HeTg o HIH & 9I¢ IRPHR SP! UIyuN B g |
1. FATH A Yo 98 G & Fo R IR fHuH! & ot el o Wiie #xdl o, difd feami & fedi ! ke g1 9 |

Options :

1. Had 1
2. % HAd Il
3. % (YT gHl
4. % 1B 1

Question Number : 50 Question Id : 92775914658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the borrowing rate and the lending rate in commercial banks is called?
Options :

1. # Float

2. % Loss

3. # Profit

4. ¥ Spread

Question Number : 50 Question Id : 92775914658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IO §ohl H FUR &R 3R IYR &R & s B 3R DI T Hgd 87
Options :

1. % addl

2. % G

3. % Y

4. ¥ B AT 3R

Question Number : 51 Question Id : 92775914659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an organic impurity?
Options :

1. # Oil

2. ¥ Nitrates

3. ¥ Human farces

4. % Animal waste

Question Number : 51 Question Id : 92775914659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifad # 9 19 @ U SrafHs igfs T8 82
Options :

1. % dd

2. ¢ A13¢T

3. % HHJ HA

4. % SIfas Uy yerd

Question Number : 52 Question Id : 92775914660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following relation is correct?
I. Atomic number = Number of protons + Number of electrons
II. Mass number = Number of protons + Number of neutrons

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 52 Question Id : 92775914660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafeied & @ ®F a1 Jey 81 82

1. TRHTY] AT = YIS bl G-AT + Seidg -1 ol A
1. SOHT ReAT = UIEi] &bl TReT + g1 ! RS
Options :

1. % Had 1

2. ¥ Had Il

3. % (YT Gl

4. % qGIIATE I

Question Number : 53 Question Id : 92775914661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of epithelial tissue?
I. Squamous

II. Cuboidal

III. Columnar

IV. Glandular

Options :

1. # Il and III

2. % 1L, III and IV
3. % I, I and III

4. 111, Il and IV

Question Number : 53 Question Id : 92775914661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # & w1 v thidiferatdt S &1 T UeR 82
. Sehl

I1. YIpRR

1. THTHR

AR

Options :



1. ® 14y I

2. % I, I dYT IV
3. % I [1YTIII

4. % 111 L AYTIV

Question Number : 54 Question Id : 92775914662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a vegetative part of a plant?
I. Roots

II. Stems

III. Leaves

I'V. Flowers

Options :

1. #* I, II and IV

2. % Il and IV
3.9 I, Il and I1I

4, % I I, IIT and IV

Question Number : 54 Question Id : 92775914662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad 7 9 o T 7Y & H1ii% 382
IS

LT

11, gf/™r

IV. g

Options :

1. % LITdUT IV

2. % I dUTIV
3.9 L ITAUT I

4, % LILIIdYTIV



Question Number : 55 Question Id : 92775914663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the components of maps?
I. Distance

II. Direction

II1. Symbol

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 55 Question Id : 92775914663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed # § aFRE & ged HH A 82

LGl
1. fa=m
111, Udiich

Options :

. # IdUT

2. % I dYTIII
3. % TdYTII
4. [ 11 dYUTIII

Question Number : 56 Question Id : 92775914664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Northern plains of India are made up of which soil?
Options :

1. ¥ Alluvial



2. * Red
3. # Black
4. % Laterite

Question Number : 56 Question Id : 92775914664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA & IR A g gar 9 a4 g2
Options :

1. ¥ Sfcll

2. % dldd

3. % ol

4. % deSC

Question Number : 57 Question Id : 92775914665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following trees are found in Tropical rain forest?
I. Mahogany

II. Ebony

II1. Rosewood

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 57 Question Id : 92775914665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 oF 9 Us I sicadia aul a9 & ue ord 82
L. HENHI



L. 3T
1. 2|

Options :

1. % 1dY1 1

2. ® 11 dUT I
3. % 1dYUT I
4. 111 dYT 1T

Question Number : 58 Question Id : 92775914666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Exosphere is correct?

L. This is the upper most layer of the atmosphere.

II. This layer has very thin air.

III. Light gases like Helium and Hydrogen float into the space from here.

Options :

1. % Only I

2. % Il and III
3. % Only III
4, ¥ 1,11 and III

Question Number : 58 Question Id : 92775914666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifead & 9 & 91 Sy sfeded & ddy & 981 82

1. I8 dgHSd B Jod SR IR B

1. 399 917 ydait gl 3|

111 B! 1Y oY - TR feraw wd grggior a8l 9§ Sfafel # =l g
Options :

1. % a1

2. ® I dYUTIII

3. % ohad III



4.« 1, 11 dUT I

Question Number : 59 Question Id : 92775914667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the capital of Pandyas?
Options :

1. ¥ Madurai

2. % Puhar

3. % Kaveripatnam

4. ¥ Daskhinpatnam

Question Number : 59 Question Id : 92775914667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSl T ITHT R e

Options :

1. ¥ AgY

2. % U}

3. % PHIoRIUSTH

4. % gf&omgTH

Question Number : 60 Question Id : 92775914668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Gandhiji began Civil Disobedience movement by breaking salt law at Dandi?
Options :

1. % 1932

2.% 1930

3. % 1922

4. % 1927



Question Number : 60 Question Id : 92775914668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fort o 7 iTef} ot A SISt T THS HIH o1 Scera B Afa1d 1A fale YRE T U1

Options :
1. %* 1932
2. % 1930
3. % 1922
4. % 1927
General Awareness2
Group Number : 4
Group Id : 927759506
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness2
Section Id : 927759542
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 927759673
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775914669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vardhamana Mahavira was Kshatriya Prince of which place?
Options :

1. ¥ Lichchhavis

2. # Sarnath

3. % Kusinari

4. ¥ Vaishali

Question Number : 61 Question Id : 92775914669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A AEER fd &7 & & IGHAR A2
Options :

1. ¢ forsfa

2. % gqRAY

3. % PRI

4. % IgICA

Question Number : 62 Question Id : 92775914670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ananga Pala ruled in Delhi during .
Options :

1. % 1165-1192

2. % 1206-1210



3. ¥ 1210-1236
4. % 1130-1145

Question Number : 62 Question Id : 92775914670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 aret A feeeht o & GRM TE o o
Options :

1. % 1165-1192

2. % 1206-1210

3. % 1210-1236

4.+ 1130-1145

Question Number : 63 Question Id : 92775914671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The battle of Plassey was fought in which year?
Options :

1. ¥ 1757

2. % 1741

3. % 1694

4. % 1763

Question Number : 63 Question Id : 92775914671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WY &1 g9 fohd oy & <1 a7 U1
Options :

1. ¥ 1757

2. % 1741

3. % 1694

4. % 1763



Question Number : 64 Question Id : 92775914672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘Politics of Jugaad: The Coalition Handbook’?
Options :

1. # Gurcharan Das

2. ¥ Saba Naqvi

3. % Vikram Seth

4. % Anita Desai

Question Number : 64 Question Id : 92775914672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I “UTfeieay 3iith JS: & HIUIRM 88gd’ & e B &2
Options :

1. % T[¥<ROI Q19

2. ¢ ol bl

3. % faspH 4o

4. % 3fFIdTcHTS

Question Number : 65 Question Id : 92775914673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following reports is not published by World Bank?
Options :

1. ¥ Human Development Report

2. # Ease of Doing Business

3. ¥ World Development Report

4. ¥ Global Economic Prospects



Question Number : 65 Question Id : 92775914673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 31 & RUIE 9 o9 gRT US1RId 781 1 S g2
Options :

1. ¥ §gA Sqaudc Raie

2. % T 3Hh g1 fao9

3. % gcs gdaude Rard

4. % TS SohIHD YRUFCH

Question Number : 66 Question Id : 92775914674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has achieved the recognition of the highest literary award of India?
Options :

1. % Saraswati Samman

2. # Vyas Samman

3. % Jnanpith Award

4. # Sahitya Akademi Award

Question Number : 66 Question Id : 92775914674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 9 frem YR & qaie Wiigfiie TGR &1 A1l UT 3t 82
Options :

1. % TRIIA M

2. # UMY YHH

3. ¢ JHUIS RIBR

4. % GIE HBIGH RIPR

Question Number : 67 Question Id : 92775914675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who is known as the ‘Father of the Indian Nuclear Programme’?
Options :

1. % M.S. Swaminathan

2. % Homi Jehangir Bhabha

3. #® Vikram Sarabhai

4. % C.N.R. Rao

Question Number : 67 Question Id : 92775914675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TRHATY HTIHH & S & & H [ ST oIl 82
Options :

1. % TH. T, WHHAYA

2. ¢ G STEIIR HTHT

3. % {9y ARTUIS

4. % . T, 3R. TG

Question Number : 68 Question Id : 92775914676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written the book ‘Early Indians’?
Options :

1. ¥ Tony Joseph

2. % Margaret Atwood

3. ¥ George Saunders

4. % Anna Burns

Question Number : 68 Question Id : 92775914676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



-3l SfgTe qaes e foredt 82
Options :

1. ¢ TH SI%

2. % AARC Tegs

3. % ol Ay

4. % T

Question Number : 69 Question Id : 92775914677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as a new interim CBI director in February 2021?
Options :

1. ¥ Praveen Sinha

2. % Rishi Kumar Shukla

3. # Aditya Mishra

4. % Ranjit Sinha

Question Number : 69 Question Id : 92775914677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WAt 2021 H . off. 312, F U il fFewe & U A fod fAged fear man ge
Options :

1. ¢ ydior gt

2. % BN HHR ol

3. % e fave

4. % 3ord RigT

Question Number : 70 Question Id : 92775914678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country has joined the Net Zero Producers Forum on climate change in April, 2021?



Options :

1. # Qatar

2. ¥ Saudi Arabia
3. ¥ Oman

4. % Iran

Question Number : 70 Question Id : 92775914678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30, 2021 H ARG UREH TR DI AT ¢RI AT SiRI TTSe™ Bk | RMAd g3l 572
Options :

1. % R

2. ¢ THal 3R

3. % 3fHH

4. % IIE

Question Number : 71 Question Id : 92775914679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To battle rising air pollution in cities, an ‘Oxygen Parlour’ has been opened at which railway station?
Options :

1. # Delhi

2. # Kolkata

3. ¥ Nashik

4. % Surat

Question Number : 71 Question Id : 92775914679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e’ H dgd arg UgyuT ¥ e & A «sifaiior ek’ ford Yad ©¥HE WR Wil T 82

Options :




1. # oot
2. % DIADhdl
3.« TS
4. % JId

Question Number : 72 Question Id : 92775914680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following country is not part of the Supply Chain Resilience Initiative launched in April 2021?
Options :

1. ¥ China

2. # Australia

3. % India

4. % Japan

Question Number : 72 Question Id : 92775914680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad o ¥ i a1 a2 3fid 2021 H YR= 1 TS JwlTs < Iferey sffkufed ugd o1 Rw et g2
Options :

1. ¢ T

2. % fiRefera

3. % HRd

4, % SUH

Question Number : 73 Question Id : 92775914681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the Indian constitution deals with citizenship?
Options :

1. % 1



2.¢¥11
3.+ 10
4. % IV

Question Number : 73 Question Id : 92775914681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TAUT BT B AT U ARG & Teifdrd 82
Options :

1. %1

2.9 11

3.% 1

4. % 1V

Question Number : 74 Question Id : 92775914682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following languages are mentioned in the Eighth Schedule of the Indian constitution?
I. Bengali

II. Assamese

II. Nepali

Options :

1. # TIand II

2. % Il and III
3. % land III

4. 1,11 and 111

Question Number : 74 Question Id : 92775914682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%@Hﬁ@ﬁﬁ%ﬂﬂ?ﬂﬂﬂﬁ%ﬁﬁ&g@ﬁaﬁh%
L.



1. 3 gH
111, SaTet

Options :

1. % IdUTll

2. % J1 dYTIII
3. % I dYTII
4. 111 dYT 1T

Question Number : 75 Question Id : 92775914683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with the Attorney General of India?
Options :

1. ¥ 76

2. % 54

3. % 70

4. % 63

Question Number : 75 Question Id : 92775914683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 D AT 3fwse YR & AgHIrIale) 3 Jaferd g2
Options :

1. ¥ 76

2. % 54

3. % 70

4. % 63

Question Number : 76 Question Id : 92775914684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Through which constitutional amendment words Socialist, Secular and Republic were added in the Preamble of the Indian constitution?



Options :

1. # First

2. % Eleventh

3. #* Forty fourth
4. ¥ Forty second

Question Number : 76 Question Id : 92775914684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TauTfd T=NeH & gRT JATSTATG! T fARUE 3R TR Wea! dI YR AU & yRara-1 & [ieferd faan mam am
Options :

1. #* JYyy

2. % WRgd]

3. % Jardrgdi

4.« SYTAIA

Question Number : 77 Question Id : 92775914685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
shall be ex officio chairman of the council of states and shall not hold any other office of profit.
Options :
1. ¥ The Vice President
2. # President
3. # The Prime Minister

4. # Attorney General of India

Question Number : 77 Question Id : 92775914685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RTS8 GHT BT UG UTATT BT 3R 30 PIS ATY BT UG R ] B

Options :



Question Number : 78 Question Id : 92775914686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vikas Gowda is associated with which sport?
Options :

1. ¥ Discus Throw

2. # Javelin Throw

3. % Wrestling

4. % Shooting

Question Number : 78 Question Id : 92775914686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fyeTg e forg @t © waiferd 82
Options :

1. ¢ %9 o

2. % afer ot

3. % Pl

4. % g

Question Number : 79 Question Id : 92775914687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports tournament — sport is correct?
I. Concacaf Gold Cup — Shooting
II. Cooch Bihar Trophy — Hockey

Options :



1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 79 Question Id : 92775914687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tfaaifia - T o1 Fafiad § S o w1 gm a8 2
L. HI-BIDHIW s HY — YT

1. B9 fI8R <T! — gl

Options :

1. % Had I
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 80 Question Id : 92775914688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a sport of Summer Olympics?
Options :

1. % Sailing

2. ¥ Wushu

3. % Water Polo

4. % Sport Climbing

Question Number : 80 Question Id : 92775914688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & O &1 91 el sicfte o1 dd Tal 82

Options :



1. % IfcHT

2. ¥ Y
3. % greX gial

4. % W FATSEST

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 81 Question Id : 92775914689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Arithmetic Abilityl

5
927759507
0

0

No

No

0

20

No

Arithmetic Abilityl

927759543
1

Online
Mandatory
20

20

20

Yes

1
927759674
Yes



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

; i (0.88)3+(0.12)3
What is the value of R0t (0aTp |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.4

3.5

4.6

Question Number : 81 Question Id : 92775914689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

; i (0.88)%+(0.12)3
What is the value of R 010t (0aTp |

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.4

3.5

4.6

Question Number : 82 Question Id : 92775914690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i

. ? Yy
If K =9 — 445, then what is the value of [K + E] ?

Options :
1. % 371
2. % 361
3.¥ 324
4. % 340

Question Number : 82 Question Id : 92775914690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
. p 1 2
afe K=9-445 g, ar [KT-E] T AT T 272

Options :
1. % 371
2. % 361
3.9 324
4. % 340

Question Number : 83 Question Id : 92775914691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6445 [6—5 .
IfK="""2and P=""" then what is the value of (K? + P% + KP)?
yB—45 WB+4/5
Options :
1. % 484
2.9 483

3. % 482



4. % 480

Question Number : 83 Question Id : 92775914691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IFK =22 and P=""2 then what is the value of (K2 + P? + KP)?
3 6—4/5 VB4 5
Options :
1. % 484
2.9 483
3. % 482
4. % 480

Question Number : 84 Question Id : 92775914692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement(s) is/are correct?

I.J_+J3_:=-JE+2.

3 :
IT. Thevalue of 1035 +{E>< (65+59)— 90} is 345.

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 84 Question Id : 92775914692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frfof@a # @ ST av/d a7 T g
I.ﬁ+u€::-«,/g+2.

3
Il. 1035 +{1x[65+59]—99} okl HleA 345 %’I

Options :

1. % Had 1
2. ¢ Had Il
3. % [ QYT gFl
4. % AT I

Question Number : 85 Question Id : 92775914693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

>

1 1 1

(it e — T
What is the value of ?
Options :
1. %9
2. ¥ 81
3.%3
4. % 27

Question Number : 85 Question Id : 92775914693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.*9
2.9 81
3.%3
4. = 27

Question Number : 86 Question Id : 92775914694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two numbers such that the first number is half of the second number. If their average is 126, then what is the first number?
Options :

1. % 130

2.9 84

3. % 70

4. % 96

Question Number : 86 Question Id : 92775914694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =T 39 UPR & o Ugah e, gkl e & 31l § | Afe ST SMINId 126 8, T Ugal! S a1 82
Options :

1. % 130

2.9 84

3. % 70

4. % 96

Question Number : 87 Question Id : 92775914695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of marks obtained by X and Y is 26 less than that of average marks obtained by Y and Z. If the marks obtained by Z is 70, what is
the marks obtained by X?

Options :



1. = 22
2. % 28
3.4 18
4. % 17

Question Number : 87 Question Id : 92775914695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X AYTY GRTUT 37! BT d Y TUT Z §RTUT 3! & 37 ¥ 26 HH ¢ | IS 2 GRIUT 3 70 &, AT X R U 3 1 g7
Options :

1. = 22

2. % 28

3.9 18

4. % 17

Question Number : 88 Question Id : 92775914696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Average of 10 numbers is 13. If 2 is added to each number, the new average is 15.

II. Average of first 8 prime numbers is 8.75.

II1. Average of 15 numbers is 12. The average of first 7 numbers is 10 and average of last 7 numbers is 13. The 8th number is 19.

Options :

1. ® Tand II

2. % Il and III
3.9 Tand III

4. % [, Il and III

Question Number : 88 Question Id : 92775914696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy= 981 82



1. 10 13 &7 3NN 13 B 1 Tl U AT H 2 SST o, < =747 31¥Id 15 8

IL. UGSl 8 3HTST T3t &1 39 8.75 §

111 15 ST BT 3T 12 3| TgaHt 7 Tl &1 3 10 8 TUT 3Ra<) 7 TResif o1 3Nd 13 81 81 T=m 19 B
Options :

1. % 13U

2. % [I9YTIII

3.9 QYT

4. % 1 11U

Question Number : 89 Question Id : 92775914697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One year ago, the average age of L and M was 23 years. The present average age of M and N is 29 years. Two years hence, the average age of L
and N will be 28 years. What is the present age of M?

Options :

1. # 25 years
2. ¥ 27 years
3. ® 24 years
4. % 28 years

Question Number : 89 Question Id : 92775914697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH a4 Ugd, L 3R M &1 3d 31 23 a9 &t | M 3R N &1 IHM SId 31 29 98 g | &I 99 4T, L 3R N &1 37¥d 31 28 a9 8t M
! IAHT 3R T 82

Options :

1. % 259y

2. ¢ 273N

3. % 249N

4. % 2834



Question Number : 90 Question Id : 92775914698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If price of apples is increased by 20 percent, then a person can buy 4 apples less for Rs. 312. What is the original price of an apple?
Options :

1. # Rs. 10

2. % Rs. 13

3. ®* Rs. 15

4. % Rs. 17

Question Number : 90 Question Id : 92775914698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A & e B 20 TA=Id T T o1d 8, O U afad 312 FUd H 4 U HH TS UIdT 8 | Ueh I 1 RIS Jed 132
Options :

1. % 10990
2. ¢ 1330
3% 1530
4. % 17909

Question Number : 91 Question Id : 92775914699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a number is successively decreased by 35 percent, 60 percent and 10 percent, then it becomes 37440. What is that number?
Options :

1. % 80000

2. % 150000

3. ¥ 160000

4. % 140000

Question Number : 91 Question Id : 92775914699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

STel Ueh T DI it T 35 IR, 60 TI=Td a7 10 Uf=Td & & b1 91l &, dl 98 37440 B SITcl § | I8 T R 52
Options :

1. #* 80000

2. % 150000

3. ¥ 160000

4. % 140000

Question Number : 92 Question Id : 92775914700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 20 percent more than B. B is 20 percent more than C. C is 40 percent less than D. D is 40 percent less than E. (A + B) is what percent of E?
Options :

1. ¥ 95.04

2. % 86.12

3. % 78.24

4. % 91.36

Question Number : 92 Question Id : 92775914700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B ¥ 20 UfI=d S1ET 81 B,C ¥ 20 UfARA SMET €1 C, D ¥ 40 UfA=Id HH § | D,E F 40 TR FH G| (A + B), E BT fobd=1 Ufa<rd 82
Options :

1. ¥ 95.04

2. % 86.12

3. % 78.24

4. % 91.36

Question Number : 93 Question Id : 92775914701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Price of an article is Rs. 20000. If it is first increased by 20 percent and then decreased by x percent and then increased by 50 percent. If the final



price becomes Rs. 27000, then what is the value of x?
Options :

1. ¥ 25 percent

2. % 33.33 percent

3. % 75 percent

4. % 42.35 percent

Question Number : 93 Question Id : 92775914701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH a%g &1 Jed 20000 T 8| T TS 20 Ui=Td T 611 741 8 auT b x Ufar=rd § & fovar a1 8 9T fihR 50 Ufa=d @ dgrn i g|
afes SifaH I 27000 S B ST &, Al x BT A T 52

Options :

1. ¢ 25 gfa=rd

2. % 3333 gfa=rd

3. % 75 gfard

4. % 4235 9faerd

Question Number : 94 Question Id : 92775914702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of cost price of an article to the selling price of the same article is 5:8, then what is the profit percentage?
Options :

1. % 37.5 percent

2. % 60 percent

3. % 40 percent

4. % 62.5 percent

Question Number : 94 Question Id : 92775914702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T avq & hd Hed BT 341 a¥g & [ashd T I 5:8 BT UM g, dl A1 HfI=Td o1 82




Options :

1. % 375 Ufa=rd
2. ¥ 60 Uf=Id
3. % 40 gfard
4. % 62.5 gfa=rd

Question Number : 95 Question Id : 92775914703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After giving a discount of 12.5 percent, Raman sold an article for Rs. 4000 and he still earned a profit of 37.5 percent. If raman gives no discount,
then what will be his approximate profit percent?

Options :

1. # 55.14 percent
2. % 59.14 percent
3. % 57.14 percent
4. % 51.14 percent

Question Number : 95 Question Id : 92775914703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12.5 TR &1 Be & & d1e, T A 4000 39 H T a¥g o4l 31 bR 1 39 37.5 U= &1 Ay HHm | Ife T g Je ol adl g, al
JYDT ATH UFI=RId LT o1 B2
Options :

1. % 55.14 yfa=rd
2. % 59 14 gfa=rd
3. ¢ 57.14 Yfa=Id
4. % 5114 9fa2rd

Question Number : 96 Question Id : 92775914704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man sold a car at 12 percent profit and a bike at 12 percent profit. If he had sold the car at 21 percent profit and the bike at 12 percent profit,



then he would have gained Rs. 4500 more. If the total cost price of car and bike is Rs. 75000, then what is the respective cost price of bike and
car?

Options :

1. % Rs. 12500, Rs. 62500
2. % Rs. 25000, Rs. 50000
3. ¥ Rs. 62500, Rs. 12500
4. # Rs. 50000, Rs. 25000

Question Number : 96 Question Id : 92775914704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T3 A 12 Ua=d & a1 TR T R SR 12 Y= & A W TS 13 ot | afg 3T 21 UFA=d & aH R SR AR 12 Tia=id & ard
W@ﬁ@?ﬁ,ﬁ‘f@%ooﬁ&%@ﬂmlqﬁmmaw SS® &1 $d Hd Jd 75000 IUI g, Al A& TUT HR BT HUR: HY
FT 82

Options :

1. % 12500 ¥, 62500 TG

2. ¥ 25000 TG, 50000 TG

3. % 62500 $TY, 12500 ST

4. % 50000 BT, 25000 Y

Question Number : 97 Question Id : 92775914705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a mixture alcohol and water are in the ratio of 3 : 7. If it contains 4 litres more water than alcohol, then what will be the quantity of water in
mixture?

Options :

1. ¥ 7 litres
2. % 3 liters
3. % 1 litre
4. % 4 litres

Question Number : 97 Question Id : 92775914705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS fHref07 o Ueb g qUT oI 3 : 7 & 0T H g | Al 39H O, Tehlgd ¥ 4 diex i &, af fisyor & 5 &t A feat gifle
Options :

1. ¥ 7TIR

2. % 3T

3. % ¥R

4. % 47X

Question Number : 98 Question Id : 92775914706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A invested Rs. 6000 for one year. B joined him with an investment of Rs. 18000 after few months. If the ratio of profits of A and B is 2 : 3, then
B joined after how many months?

Options :

1. # 3 months
2. % 6 months
3. % 9 months
4. ¥ 12 months

Question Number : 98 Question Id : 92775914706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 6000 ¥T0 TH T8 & forT a1 fhU| & AEI T4Td B 18000 30T FA1 & 1Y ST I ST ¢ | (G A TUTB & ATY 6T SIATd 2 : 3
g, a1 B fovam 76 ggTd S8

Options :

1. % 30
2. ¥ 6HeH
3. % 9HgH
4. % 12HgH



Question Number : 99 Question Id : 92775914707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student obtained equal marks in english and history. The ratio of marks in history and maths is 3 : 4. He scored an aggregate of 60 percent in
the three subjects. Maximum marks for each subject is 100. How much did he score in history?

Options :
1. % 72
2. % 36
3. % 18
4.9 54

Question Number : 99 Question Id : 92775914707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS S A ST a7 Sfaer § 0 3ie U fhu | Sfagr auT T1frd & Sid! &1 SUTd 3 : 4 81 14 fawdl & $d 8id 60 Tfa=id 81 Ud®
fw & forg sif¥ieaw i 100 31 I8 gfae & fram siss U frw

Options :

1. % 72

2. % 36

3. % 18

4. ¢ 54

Question Number : 100 Question Id : 92775914708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

I. Two jars are of equal capacity. They contain milk and water in ratio 2 : 3 and 4 : 5 respectively. The jars are emptied into one big jar. The ratio
of milk and water in big jaris 17 : 28.

II. A jar contain milk and water in ratio 1 : 4. 10 litre of mixture is withdrawn and replaced with 10 litre milk. The new ratio of milk and water is
1 : 2. The capacity of jar is 60 litres.

Options :

1. * OnlyI

2.9 Only II



3. % Bothland II
4. % Neither I nor 11

Question Number : 100 Question Id : 92775914708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafifEad & ¥ S T 98l 2

L. &1 STRI T T T ¢ | 3T QU TUT U ShHRT: 2 : 3 AT 4 : 5 U H g | ORI & U 98 OIR | S (A1 T 8| 98 IR | g aul
O &7 3UTd 17 : 28 B

1. T IR H G 4T O BT SIUTd 1 : 4 8| 10 Tex fHsyor Fasrat foram Sira g T 10 iR g 9 9ad faan S § | g 4T Oii ol =T
3T 1 : 2 €1 SR T &HdT 60 WX 5

Options :

1. % Had ]

2. HAd I

3. % [ QYT ST

4, % G IAIBI
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Group Id : 927759508
Group Maximum Duration : 0

Group Minimum Duration : 0
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Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775914709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 30000 is borrowed at compound interest at the rate of 8 percent per annum. If the interest is compounded quarterly, then how much amount
will have to be paid after 6 months?

Options :

1. ¥ Rs. 32220
2. ¥ Rs. 31212
3. % Rs. 35430
4. % Rs. 36930

Question Number : 101 Question Id : 92775914709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 TT=Id Ui a¥ &1 &3 U Tehdieg sATol TR 30000 $UF YR OTT MU € | IS ST BT IS ATTRID (a1 STl 8, O 6 He - & §IG ool
YRITRT BT YT AT GRTI?

Options :

1. % 32220307

2. ¥ 3121230

3. % 35430 307

4. % 36930 Y




Question Number : 102 Question Id : 92775914710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A principal of Rs. 50000 is lent for 3 years on compound interest (compounding annually). If the rate of interest is 3 percent per annum for the
first year, 5 percent per annum for the second year and 8§ percent per annum for the third year, then how much interest will be received after 3
years?

Options :

1. * Rs. 5231
2. % Rs. 9241
3. ¥ Rs. 8401
4. % Rs. 7291

Question Number : 102 Question Id : 92775914710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50000 TUY BT U HAU Thgfg SIS (AId Yo ) W 3 I9 & fog IUR o mar 81 afe &l &1 &= Ugd ay & forg 3 wfaera ufaad
g, TR a8 & farg 5 gfawra ufaad iR R a¥ & forg ¢ ufawra ufaad €, i 3 a9 & §1g fooa-T saret o grm?

Options :

1. % 5231300
2. % 9241 IYY
3. ¢ 8401 39U
4. % 7201 30

Question Number : 103 Question Id : 92775914711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 2700 amounts to Rs. 8100 in 4 years at a certain rate of compound interest (compounding annually). How much this sum will
amounts to after 16 years?

Options :
1. ® Rs. 287100
2. % Rs. 128760



3. ¥ Rs. 218700
4. % Rs. 152760

Question Number : 103 Question Id : 92775914711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2700 FUY B T M 4 I8 H Ishgfes sl (@1fifes HalorH F) &1 T P & W 8100 92 81 SAcH B 16 TN 1 A M fobar1T &1 s
Options :

1. % 287100 T4

2. % 128760 T4

3. ¢ 218700 3T

4. % 152760 T4

Question Number : 104 Question Id : 92775914712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speeds of a boat in upstream and downstream are 7 km/hr and 17 km/hr respectively. What is the speed of stream?
Options :

1. # 6 km/hr

2. # 8 km/hr

3. % 10 km/hr

4. ¥ 5 km/hr

Question Number : 104 Question Id : 92775914712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A1 P T YRT DI YA a 94T URT B S d HAT: 7 oo Myeder aur 17 fo5 1i./ger g1 41 3t 7ifd /2
Options :

1. % ¢ fop.Hl /der

2. % g o At /der

3. % 10 fob it /ddeT



4. ¢ 5 {1 et

Question Number : 105 Question Id : 92775914713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohan goes from A to B at the speed of 30 km/hr and return from B to A at the speed of x km/hr. If the average speed for the whole journey is 45
km/hr, then what is the value of x?

Options :

1. % 50 km/hr
2. % 60 km/hr
3. ¥ 90 km/hr
4. % 70 km/hr

Question Number : 105 Question Id : 92775914713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A QB 30 fb 1 /EeT 31 T A AT 8 TUTB F A x [ /Aer ot ifa @ arsy i 31 afe Ot amn & o oivga wifd 45 fop it er 8,
ol x &1 T 1 82

Options :

1. % 50 fop.#1 /dier

2. % 60 fob =it /deT

3. ¢ 90 fob Hit /ddeT

4. % 70 fob 4t /eder

Question Number : 106 Question Id : 92775914714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

I. A man travels 4 equal distances of 5 km with speeds of 3 km/hr, 6 km/hr, 9 km/hr and 12 km/hr. His average speed is 144/29 km/hr.

II. A train can cross a stationary pole in 30 seconds. If it can cross a 800 metre long platform in 60 seconds, then the train can cross a bridge,
1600 metre long in 90 seconds.

Options :

1. % Only I



2.% Only II
3. % BothIand Il
4. % Neither [ nor II

Question Number : 106 Question Id : 92775914714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffea Ao oradiss
I.ngm?ﬂ?ﬁs%.rg.ﬁ4wgﬁﬁ3ﬁﬁﬁﬂa61%5.1#1.#321,91%7.rﬂ./aaazn12ﬁmﬂf€iaﬁvﬁn‘fﬁatrw%lwﬁsﬁwvﬁr
144/29 & 1 eicT B

I1. Ueh YeNTTS] Ueh fRR W 1 30 YhUS H UR R Jball g | TfS a8 800 Hiek T WehTH Bl 60 YHUS H UR B Jobdll §, dl a8 YTt
TH 1600 Hiex T Gd B 90 JHUS & UR FR Gh«il ¢ |

Options :

1. % FHadl

2. ¥ Had II

3. % [QUT I gl
4. % 1B

Question Number : 107 Question Id : 92775914715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can build a wall in 12 days. How many days will he take to build 7 walls of the same type?
Options :

1. # 72 days

2. % 96 days

3. ¥ 84 days

4. % 108 days

Question Number : 107 Question Id : 92775914715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH AR B 12 e 7 91 Gopar &1 I TR i 7 AR s | I fovdq fam e



Options :

1. % nfeq
2. % 96 faT
3. ¢ g4fa
4. % 108 faq

Question Number : 108 Question Id : 92775914716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 men can do a work in 40 days. They started the work but after 15 days 10 men left the work. In how many days the remaining work will be
completed?

Options :

1. # 65 days
2. % 75 days
3. % 50 days
4. % 60 days

Question Number : 108 Question Id : 92775914716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%%)mwwmmﬁ?ﬁﬁwama%l 311 B LE B fea1 Al 15 Ta1 & 918 10 To0 A H1H SIS faaT| W H far fa1 & gof
?

Options :

1. % 65faT
2. % 754
3.¢ 50 faA
4. % g0 fea

Question Number : 109 Question Id : 92775914717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
J, K and L can complete a work alone in 20 days, 30 days and 50 days respectively. They started the work together but after 4 days J left the work



and 8 days before the completion of work L left the work. In how many days the work was completed?
Options :

1. % 12 days

2. % 10 days

3. # 16 days

4. ¥ 18 days

Question Number : 109 Question Id : 92775914717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J, K 3R L 3fhal AR 20 T34, 30 &7 3R 50 f # 0 S QU ok Tohd & | 381+ A1 Fae: w1 = fohan difee 4 &1 & a1g 1 A o
31s fear iR 1 W gH A 8 e ugd L A o1 ©is faan| o foram foa & qrr &Y o

Options :

1% 12fe
2. % 10feq
3. % 16feA
4. ¢ 18T

Question Number : 110 Question Id : 92775914718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. A, B and C took a work for Rs. 840. A and B together were told to complete 5/12 part of the total work and the remaining work is to be
completed by C alone. C got Rs. 490 as his share.

II. P, Q and R alone can do a work in 8 days, 12 days and 16 days respectively. If they will receive a total amount of Rs. 7800 for this work, then
the share of R will be Rs. 2400.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II
4. ® Neither I nor II



Question Number : 110 Question Id : 92775914718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & J 31 91 Sy 981 52

I. A, BT C 840 3T & foTE Uh HI ford| A IUT B &I FHAHR Ho 1A BT 5/12 HIT T B & [0 Hal 71 7T Y B C GRT 3hal
T a1 AT 8| C BT 30 TR & =0 H 490 IUY YT U

IL P, %qe%i”mmz 8 fam, 12 fa1 3R 16 G 1 T 1 x Il ¢ 1 e 59 B & AU 38 ot 7800 BT UT BT, T R BT g
2400 |

Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
4. % I I

Question Number : 111 Question Id : 92775914719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five times the area of a circle is same as the area of a square. What is the ratio of the diameter of the circle and diagonal of the square?
Options :

L@ V2 V(57)

4 % 2:V(5m)

Question Number : 111 Question Id : 92775914719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TP I & &A% &1 Uid 1 Th a1 o &% d & aRI6R ¢ | I & 1 aUT 31 o [qa Ui &1 SJaTd o1 82
Options :

[ V2 1 N(5m)

4 % 2:V(m)

Question Number : 112 Question Id : 92775914720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. If the length of longest rod that can be placed in cube is 303 cm. then
area of each face of cube is 900 cm?.

II. Radius of a right circular cone is 7 cm and its height is 24 cm.
Curved surface area of this cone will be 550 cm?.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 112 Question Id : 92775914720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

=fofaa # @ siF a1 a7 Jar &2

I O TF Ol F 3T W A Jrel ga0 a5 o fT JFaE 3003 qA & ar uv fr 3w
TdE FT &% 900 T.AT.2 gl

Il T oFageatd oF # Bsar 78 § qur 3uH I 24 @A Bl 3W OF F IF T
STEe 550 WA &

Options :

1. % FHadl
2. % Had Il
3. ¢ QYT I gl
4. % 1B

Question Number : 113 Question Id : 92775914721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

L. If length. breadth and height of a cuboid are 60 cm. 40 ecm and 20 cm respectively.
then the length of longest rod that can be placed in cuboid is 20714 cm.

IT. Perimeter of an equilateral triangle is 120 cm and it is equal to the perimeter
of a square. Ratio of the area of equilateral triangle and square is 443 : 9.

Options :

1. % Only I

2. % Only II

3. % BothIand II

4. % Neither I nor II



Question Number : 113 Question Id : 92775914721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa 7 § <9 O a9 T@r &

I Ifg U ot 1 oFEre, =S gur FEE FAY: 60 WA, 40 WAL Jur 20 WAL g ar
AT H I A del @99 oFr ©F T & 20414 @A §

L U HATS & IAT 120 TA. § T 9§ 0 T F INAT & W g1 FAIHSA T F9T
& &Il T I 413 : 9§l

Options :

1. % Had 1

2. % HAd Il

R AGLIIEGI
4. % ATBIIATSIII

Question Number : 114 Question Id : 92775914722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of volume of two cylinders H1 and H2 is \2 : V3 respectively.
If the ratio of height of the two cylinders H1 and H2 is 4 : 9. then
what is the ratio of the curved surface area of H1 and H2 respectively?

Options :
34 . ~5/4
w453
ZSM : 35f4

2.¥



94 404
Lx 213

34 454
, w BB

Question Number : 114 Question Id : 92775914722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ar oAl H1 9T H2 & 3T wAT: 2 : 43 81 7l Sorat Hl T H2 f 918 &7 39rd 74 0 9
g ar HI 997 H2 & I TOT 8190 HT HeJad FaT 82

Options :

564 . 4544
% 43

ZSM : 35f4
2.¥

g | ~0/4
Lx 2753

3d L34
, w BB

Question Number : 115 Question Id : 92775914723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of votes received by 7 candidates in a election.



Candidates | Number of votes
A 4000
B 5200
C 6340
D 7930
E 3800
F 8130
G 6300
What is the ratio of number of votes received by E to the number of votes received by B?
Options :
1.¥19:26
2. % 26:19
3. % 17:31
4, % 31:17

Question Number : 115 Question Id : 92775914723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T <t eft arferenT we e B 7 Uféral gIRT U TRy T Tl Bt Tt & g =it g



Sgcareft | HAT fr qEar
A 4000
B 5200
5 6340
D 7930
E 3800
F 3130
G 6300
E GRT UG {58 T8 Al &1 T 61 B §RT UG {8 T 7l &1 T ¥ o ST 82
Options :
1.¥19:26
2. % 26:19
3. % 17:31
4. %31:17

Question Number : 116 Question Id : 92775914724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of pens and pencils sold by the 6 shops.



Shops | Pen Pencil

S1 63 104
52 84 98
53 38 116
54 33 37
S5 62 59
S6 78 78

Total number of pencils sold by S3, S4 and S6 are how much more than the total number of pens sold by S1, S2 and S3?

Options :

1. % 34

2. % 28

3. % 22

4. ¥ 46

Question Number : 116 Question Id : 92775914724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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G | el | gfaer

S1 63 104
52 84 98
53 38 116
S4 53 37
35 62 59

56 78 78




S3, S4 TUT S6 GRT ot Tt URYeHl &1 o ASAT S1, S2 TUT S3 GRIT o T Hod Bt Hof H& ¥ bt i g2
Options :

1. % 34

2. % 28

3. % 22

4. 46

Question Number : 117 Question Id : 92775914725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of shirts bought by Pankaj in 6 consecutive months. Number of shirts in a month are shown as a
percentage of total number of shirts bought by Pankaj in these 6 months.

Which of the following statement is correct?

I. Number of shirts bought in M1 are 50 percent more than the number of shirts bought in M2
II. Total central angle formed by M3, M4 and M6 is 189.2 degrees

II1. Ratio of number of shirts bought in M4 to the number of shirts bought in M2 is 2 : 1

Options :

1. ¥ Only I

2. % Both II and III
3. % Only II



4. % 111 and IIT

Question Number : 117 Question Id : 92775914725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Gahol gRT WRIE! T SIS Bt $d e & Ufa<id & =0 § a1 T g |

FafIRad & I DI 91 S T8 52
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Options :

. ¢ $had |

2. % [ YT I Gl
3. % $Had Il

4. % LI dYr1

Question Number : 118 Question Id : 92775914726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the number of runs scored and number of matches played by 8 batsmen.
Batting average = Number of runs scored by a batsman/Number of matches played by a batsman

Rafsman Number of | Number of
Tuns matches
Bl 480 24
B2 720 12
B3 648 16
B4 730 10
B5 946 27
Bé6 1143 16
B7 1050 30
B8 980 14

F = Sum of batting average of B8, B3, B6 and B1
G = Sum of batting average of B2, B4 and B7
What is the value of F — G?

Options :

1. % 38.9375
2. ¥ 33.9375
3. % 31.9375
4. % 36.4375

Question Number : 118 Question Id : 92775914726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Ratsman Number of | Number of
Tuns matches
Bl 480 24
B2 720 12
B3 648 16
B4 730 10
B5 946 27
Bé6 1143 16
B7 1050 30
B8 980 14

F = BS, B3, B6 dUT B1 &1 SfeT 31 d &7 AT
G = B2, B4 QYT B7 &1 SfT 3iad o1 anT
F— G 1 HIF 182

Options :

1. % 389375

2. ¢ 33.9375

3. % 31.9375

4. ® 364375

Question Number : 119 Question Id : 92775914727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of chairs in 5 halls.



300
250
200
150 1
100 = 65

50

265

170

H1 H2 H3 H4 H5

Which of the following relation is correct about the number of chairs in the given hall?
I. H3 > H4 > H5
II. H2 > H5 > H1

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 119 Question Id : 92775914727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I H3 > H4 > H5
II. H2 > H5 > HI

Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % I I

Question Number : 120 Question Id : 92775914728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of cars of two types in 6 cities.
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Which of the following statement is incorrect?
I. Ratio of number of cars of type 1 to the number of cars of type 2 is same for both M and N.
II. Total number of cars of type 2 are 125 more than the total number of cars of type 1

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 120 Question Id : 92775914728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear T <us i 6 TER & Gl YR &I BRI ot BT B SidT g |




Hgprl "R 2
400 1~
300 300
300 1 430 240 [ |
200
200 1 189 150
i 120

100 4 75 I 60 H

(‘ 40

0 | ] Hl ] [
J K [ M N P
fafefad 7 @ o 91wy I8 78l 72

L UPR | B BRI B! G BT UBR 2 I BRI B! G- Y U M 3R N GHI & foe THE B
IL. TR 2 B BRI B! Hd G YR | B BRI B Hof T F 125 3HAF |

Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I IAB I
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Question Number : 121 Question Id : 92775914729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The five first (1)/ boys will get a (2)/chance to play this game(3)/.No error (4)

Options :
1.9 1
2.% 2
3.%3
4. % 4

Question Number : 121 Question Id : 92775914729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).



The five first (1)/ boys will get a (2)/chance to play this game(3)/.No error (4)
Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 122 Question Id : 92775914730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
If I had known (1)/that she was in New York (2)/I will have met her (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 122 Question Id : 92775914730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
If I had known (1)/that she was in New York (2)/I will have met her (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 123 Question Id : 92775914731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Potency of all stored vaccines (1)/depends at the temperature (2)/at which they are kept (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 92775914731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Potency of all stored vaccines (1)/depends at the temperature (2)/at which they are kept (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 124 Question Id : 92775914732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My colleagues and I, lead(1)/by our manager, found (2)/some loopholes in the project (3)/.No error (4)

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 124 Question Id : 92775914732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My colleagues and I, lead(1)/by our manager, found (2)/some loopholes in the project (3)/.No error (4)

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 125 Question Id : 92775914733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The secrets of the (1)/past has not yet all (2)/been brought to light (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 92775914733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The secrets of the (1)/past has not yet all (2)/been brought to light (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 126 Question Id : 92775914734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I think I (have enough heard) of your lies.

Options :

1. * has enough heard
2. # enough have heard
3. ¥ have heard enough

4. ¥ No improvement

Question Number : 126 Question Id : 92775914734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I think I (have enough heard) of your lies.

Options :

1. * has enough heard
2. # enough have heard
3. ¥ have heard enough

4. ¥ No improvement

Question Number : 127 Question Id : 92775914735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Workers agreed (to call off) a planned overtime ban.

Options :

1. #* to call upon
2. % for calling off
3. % tocall on

4. ¥ No improvement

Question Number : 127 Question Id : 92775914735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Workers agreed (to call off) a planned overtime ban.

Options :

1. # to call upon
2. # for calling off
3. * tocall on

4. ¥ No improvement

Question Number : 128 Question Id : 92775914736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Sumit told me that he would not be (working and eat dinner).

Options :

1. ¥ working and eating dinner

2. # working as well as eat dinner
3. #* worked and ate dinner

4. ¥ No improvement

Question Number : 128 Question Id : 92775914736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Sumit told me that he would not be (working and eat dinner).

Options :

1. ¥ working and eating dinner

2. # working as well as eat dinner
3. #® worked and ate dinner

4. ¥ No improvement

Question Number : 129 Question Id : 92775914737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The Atal Pension Yojana (launched) on 09.05.2015 to create a universal social security system for all Indians, especially the poor, the under-
privileged and the workers in the unorganised sector.

Options :

1. ¥ was launched

2. # had launched

3. % was being launched

4. % was been launched

Question Number : 129 Question Id : 92775914737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The Atal Pension Yojana (launched) on 09.05.2015 to create a universal social security system for all Indians, especially the poor, the under-
privileged and the workers in the unorganised sector.

Options :

1. ¥ was launched

2. # had launched

3. % was being launched

4. % was been launched

Question Number : 130 Question Id : 92775914738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We (spent the few days) acclimatizing ourselves to the high altitude.

Options :

1. # spend some days
2. ¥ gspent a few days
3. % spend fewer days

4. ¥ No improvement



Question Number : 130 Question Id : 92775914738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We (spent the few days) acclimatizing ourselves to the high altitude.

Options :

1. # spend some days
2. ¥ gspent a few days
3. % spend fewer days

4. ¥ No improvement

Question Number : 131 Question Id : 92775914739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Many people the sweeper for not keeping the roads clear.

Options :

1. ¥ blamed
2. ® praised
3. % claimed

4. % calmed

Question Number : 131 Question Id : 92775914739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Many people the sweeper for not keeping the roads clear.

Options :

1. ¥ blamed
2. ® praised
3. % claimed

4. % calmed



Question Number : 132 Question Id : 92775914740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The butterfly spent the rest of life unable to fly.

Options :
1. * it
2. ¥ its
3. * their

4. * one’s

Question Number : 132 Question Id : 92775914740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The butterfly spent the rest of life unable to fly.

Options :
1. * it
2. ¥ its
3. * their

4. * one’s

Question Number : 133 Question Id : 92775914741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I can understand your situation right now, we need to leave.

Options :

1. *= although
2. * though
3. ¥ but



4. % lest

Question Number : 133 Question Id : 92775914741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I can understand your situation right now, we need to leave.

Options :

1. # although
2. * though
3. % but

4. = lest

Question Number : 134 Question Id : 92775914742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He filled three pots water and placed them on a high fire.

Options :
1. # for
2. % of
3. % with

4. % from

Question Number : 134 Question Id : 92775914742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He filled three pots water and placed them on a high fire.

Options :
1. # for
2. % of
3. % with



4, % from

Question Number : 135 Question Id : 92775914743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The fox jumped towards a lofty branch and just missed the grapes.

Options :

1. # swaying
2. % declining
3. ¥ hanging

4. # rising

Question Number : 135 Question Id : 92775914743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The fox jumped towards a lofty branch and just missed the grapes.

Options :

1. # swaying
2. % declining
3. ¥ hanging

4. # rising

Question Number : 136 Question Id : 92775914744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
He was shot

P. dead by an

Q. to attend a prayer

R. Indian on his way

S. on 30 January, 1948



Options :

1. # PQSR
2. ¥ PRQS
3. ¥ SRQP
4. ¥ RSQP

Question Number : 136 Question Id : 92775914744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
He was shot

P. dead by an

Q. to attend a prayer

R. Indian on his way

S. on 30 January, 1948

Options :

1. # PQSR
2. ¥ PRQS
3. ¥ SRQP
4. ¥ RSQP

Question Number : 137 Question Id : 92775914745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The importance of water

P. as it helps the body to perform

Q. in our diet is apparent

R. specific metabolic tasks and

S. regulates our body temperature

Options :

1. % QRSP

2. % RSQP

3. ¥ QPRS



4. % RQPS

Question Number : 137 Question Id : 92775914745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The importance of water

P. as it helps the body to perform

Q. in our diet is apparent

R. specific metabolic tasks and

S. regulates our body temperature

Options :

1. ¥ QRSP
2. % RSQP
3. ¥ QPRS
4. * RQPS

Question Number : 138 Question Id : 92775914746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
All the regions and

P. and refined qualities

Q. have their own culture

R. religions of the world

S. with many customs, traditions

Options :

1. ¥ PRQS
2. % PQRS
3. % SRQP
4. ¥ RQSP

Question Number : 138 Question Id : 92775914746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
All the regions and

P. and refined qualities

Q. have their own culture

R. religions of the world

S. with many customs, traditions

Options :

1. # PRQS
2. % PQRS
3. % SRQP
4. ¥ RQSP

Question Number : 139 Question Id : 92775914747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Lastly, we need to have a balanced diet and take adequate exercise.

Q. We should also sleep well as it relaxes our body and reduces stress.

R. Good health is a matter of great concern, to maintain it, healthy living and a disciplined life is a must.

S. One of the best ways is to drink plenty of water as it keeps your skin healthy and regulates our body temperature.

Options :

1. ¥ RSQP

2. % RQSP

3. % QRSP

4. ¥ PSRQ

Question Number : 139 Question Id : 92775914747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Lastly, we need to have a balanced diet and take adequate exercise.

Q. We should also sleep well as it relaxes our body and reduces stress.



R. Good health is a matter of great concern, to maintain it, healthy living and a disciplined life is a must.
S. One of the best ways is to drink plenty of water as it keeps your skin healthy and regulates our body temperature.

Options :

1. ¥ RSQP
2. % RQSP
3. ¥ QRSP
4. ¥ PSRQ

Question Number : 140 Question Id : 92775914748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Yearly

Options :

1. # Annul
2. % Annual
3. % Rarely
4. # Partly

Question Number : 140 Question Id : 92775914748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Yearly

Options :

1. # Annul
2. % Annual
3. % Rarely
4. # Partly

General English2
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Question Number : 141 Question Id : 92775914749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Wrestle

Options :

1. * Hustle
2. * Wrought
3. ¥ Battle



4. ¥ Weary

Question Number : 141 Question Id : 92775914749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Wrestle

Options :

1. # Hustle
2. % Wrought
3. ¥ Battle
4. ¥ Weary

Question Number : 142 Question Id : 92775914750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Degrade

Options :

1. # Deny

2. # Demolish
3. # Fatten

4. ¥ Dignify

Question Number : 142 Question Id : 92775914750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Degrade

Options :
1. # Deny
2. # Demolish

3. # Fatten



4. ¥ Dignify

Question Number : 143 Question Id : 92775914751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Definite

Options :

1. ¥ Uncertain
2. # Particular
3. # Squeamish
4. % Salutary

Question Number : 143 Question Id : 92775914751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Definite

Options :

1. ¥ Uncertain
2. # Particular
3. # Squeamish
4. % Salutary

Question Number : 144 Question Id : 92775914752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. #* Ignobel

2. % Ignoble

3. % Ignobbel



4. # Ignobble

Question Number : 144 Question Id : 92775914752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Ignobel

2. ¥ Ignoble

3. # Ignobbel

4. # Ignobble

Question Number : 145 Question Id : 92775914753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Procllamation

2. # Procclamation

3. % Proclamation

4. % Proclamateon

Question Number : 145 Question Id : 92775914753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Procllamation

2. # Procclamation

3. % Proclamation

4. % Proclamateon



Question Number : 146 Question Id : 92775914754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Parrachuted

2. ® Paracchuted

3. # Parachueted

4. ¥ Parachuted

Question Number : 146 Question Id : 92775914754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Parrachuted

2. % Paracchuted

3. # Parachueted

4. ¥ Parachuted

Question Number : 147 Question Id : 92775914755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Sojourner

2. # Sojournner

3. % Sojuorner

4. # Soujourner

Question Number : 147 Question Id : 92775914755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Sojourner

2. # Sojournner

3. % Sojuorner

4. % Soujourner

Question Number : 148 Question Id : 92775914756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
With open arms

Options :

1. # Paying consideration
2. % With happiness

3. % Kind

4. % To speak softly

Question Number : 148 Question Id : 92775914756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
With open arms

Options :

1. # Paying consideration
2. % With happiness

3. % Kind

4. % To speak softly

Question Number : 149 Question Id : 92775914757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Point the finger at someone

Options :

1. ¥ To give up

2. # To contact someone
3. % To blame someone

4. % To impede something

Question Number : 149 Question Id : 92775914757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Point the finger at someone

Options :

1. ¥ To give up

2. # To contact someone
3. % To blame someone

4. % To impede something

Question Number : 150 Question Id : 92775914758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get on someone's nerves

Options :

1. # To make someone contented
2. ® To know secrets

3. % To annoy

4. % To support

Question Number : 150 Question Id : 92775914758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get on someone's nerves

Options :

1. # To make someone contented
2. # To know secrets

3. % To annoy

4. # To support

Question Number : 151 Question Id : 92775914759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A bed of roses

Options :

1. # A knotty situation

2. % A hard circumstance
3. % Beautiful garden

4. ¥ A pleasurable situation

Question Number : 151 Question Id : 92775914759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A bed of roses

Options :

1. # A knotty situation

2. % A hard circumstance
3. % Beautiful garden

4. ¥ A pleasurable situation

Question Number : 152 Question Id : 92775914760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Gust of wind

Options :

1. ¥ Breeze

2. % Drought
3. % Stream

4. % Cyclone

Question Number : 152 Question Id : 92775914760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Gust of wind

Options :

1. ¥ Breeze

2. % Drought
3. % Stream

4. % Cyclone

Question Number : 153 Question Id : 92775914761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Guided by one’s sense of duty

Options :

1. ¥ Awareness

2. ¥ Conscientious
3. % Pithy

4. % Platitude



Question Number : 153 Question Id : 92775914761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Guided by one’s sense of duty

Options :

1. # Awareness

2. ¥ Conscientious
3. # Pithy

4. # Platitude

Question Number : 154 Question Id : 92775914762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Loss of memory

Options :

1. # Remembrance
2. % Syndrome

3. # Immobile

4. % Amnesia

Question Number : 154 Question Id : 92775914762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Loss of memory

Options :

1. ¥ Remembrance
2. % Syndrome

3. # Immobile

4. % Amnesia



Question Number : 155 Question Id : 92775914763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Lover of dogs

Options :

1. ¥ Cynophilist
2. * Cinephilia
3. % Opprobrium

4. % Canine

Question Number : 155 Question Id : 92775914763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Lover of dogs

Options :

1. ¥ Cynophilist
2. * Cinephilia
3. % Opprobrium

4. % Canine

Sub-Section Number : 2
Sub-Section Id : 927759678
Question Shuffling Allowed : Yes

Question Id : 92775914764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

'Thoda' is a martial art form of Himachal Pradesh, India that relies on one's talent with the bow and arrow. The name 'Thoda' is derived from the
round piece of wood fixed to the head of the arrow. Its history is traced back to the days of Mahabharata when bows and arrows were used in the
epic battles between the Pandavas and the Kauravas while residing in the beautiful valleys of Kullu and Manali. Thus, this martial art has its
origins in Kullu. The equipment required for this game is bows and arrows.

In Himachal Pradesh, in the olden days, the game of Thoda was organized in a very interesting way. A handful of village folks would go to



another village and throw tree leaves into the village well before sunrise. They would then hide in the bushes nearby, just outside the village. As
soon as the villagers came to draw water the youths would shout and challenge them for a fight.

Held on Baisakhi Day, the competition is a mixture of martial art, cultural event and sport. Community prayers are organized to invoke the
blessings of the Gods. The archers are divided into teams called Saathi and Pashi. The archers in this game have to aim at the leg region, below
the knee.

On reaching the village fairground, both the teams dance on either side of the ground. Both the opponents face each other at a distance of about
10 meters and prepare to attack. Very quick and easy movements are the only methods of defence. The whole competition is conducted to the
lively rhythm of war dance with one side furiously sidestepping, legs kicking in all directions, and the other side doing its best to place an arrow
on the target. There are minus points for a strike on the wrong parts of the leg.

Presently, the game is played in a marked court, which ensures that a certain degree of discipline is maintained in Thoda- a happy blend of
culture and sport.

Sub questions

Question Number : 156 Question Id : 92775914765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The title of the passage can be perfectly represented by-
Options :

1. # Martial Arts of India

2. # Harvest Festivals of India

3. % Thoda- an Indian Martial Art

4. ¥ The history of “Thoda”

Question Number : 157 Question Id : 92775914766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, “Thoda” is the martial art of which state?
Options :

1. # Haryana

2. % Jharkhand

3. ¥ Himachal Pradesh

4. # Chhattisgarh

Question Number : 158 Question Id : 92775914767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What equipment is required for this art?
Options :

1. ¥ Bows and arrows

2. % Bat and bricks

3. % Branches and leaves

4. % No equipment is required

Question Number : 159 Question Id : 92775914768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. # There are no minus points for a strike on the wrong parts of the leg.

2. # On reaching the village fairground, both the teams dance on the same side of the ground.
3. # The dancers are divided into teams called Saathi and Pashi.

4. ¥ Thoda is held on Baisakhi Day.

Question Number : 160 Question Id : 92775914769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “invoke” is?
Options :

1. % Barren

2. ¥ Beget

3. # Bestow

4. ¥ Bellow

Question Id : 92775914764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.
'Thoda' is a martial art form of Himachal Pradesh, India that relies on one's talent with the bow and arrow. The name 'Thoda' is derived from the



round piece of wood fixed to the head of the arrow. Its history is traced back to the days of Mahabharata when bows and arrows were used in the
epic battles between the Pandavas and the Kauravas while residing in the beautiful valleys of Kullu and Manali. Thus, this martial art has its
origins in Kullu. The equipment required for this game is bows and arrows.

In Himachal Pradesh, in the olden days, the game of Thoda was organized in a very interesting way. A handful of village folks would go to
another village and throw tree leaves into the village well before sunrise. They would then hide in the bushes nearby, just outside the village. As
soon as the villagers came to draw water the youths would shout and challenge them for a fight.

Held on Baisakhi Day, the competition is a mixture of martial art, cultural event and sport. Community prayers are organized to invoke the
blessings of the Gods. The archers are divided into teams called Saathi and Pashi. The archers in this game have to aim at the leg region, below
the knee.

On reaching the village fairground, both the teams dance on either side of the ground. Both the opponents face each other at a distance of about
10 meters and prepare to attack. Very quick and easy movements are the only methods of defence. The whole competition is conducted to the
lively rhythm of war dance with one side furiously sidestepping, legs kicking in all directions, and the other side doing its best to place an arrow
on the target. There are minus points for a strike on the wrong parts of the leg.

Presently, the game is played in a marked court, which ensures that a certain degree of discipline is maintained in Thoda- a happy blend of
culture and sport.

Sub questions

Question Number : 156 Question Id : 92775914765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The title of the passage can be perfectly represented by-
Options :

1. # Martial Arts of India

2. # Harvest Festivals of India

3. % Thoda- an Indian Martial Art

4. # The history of “Thoda”

Question Number : 157 Question Id : 92775914766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, “Thoda” is the martial art of which state?
Options :

1. # Haryana

2. % Jharkhand

3. ¥ Himachal Pradesh

4. # Chhattisgarh



Question Number : 158 Question Id : 92775914767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What equipment is required for this art?
Options :

1. ¥ Bows and arrows

2. % Bat and bricks

3. ® Branches and leaves

4. ® No equipment is required

Question Number : 159 Question Id : 92775914768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ® There are no minus points for a strike on the wrong parts of the leg.

2. % On reaching the village fairground, both the teams dance on the same side of the ground.
3. % The dancers are divided into teams called Saathi and Pashi.

4. ¥ Thoda is held on Baisakhi Day.

Question Number : 160 Question Id : 92775914769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “invoke™ is?
Options :

1. ® Barren

2. ¥ Beget

3. % Bestow

4. ® Bellow
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Question Number : 161 Question Id : 92775914770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofofad & | & 91 Wsg doaH et T8 81
Options :

1. #* g

2. % I



3. ¢ 98

4. % 4g

Question Number : 161 Question Id : 92775914770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & S 91 e a0 Teg o1 o
Options :

1. % g

2. % i

3.¥ 8

4, % 9

Question Number : 162 Question Id : 92775914771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o ¥ &9 1 g IuA 1781 2
Options :

1. ¢ A

2. % JPHR

3. % {uld

4. % JUa

Question Number : 162 Question Id : 92775914771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 & 91 < Suw &1 81 g
Options :

1. ¢ g

2. # JPHR

3. % gol+d



4. % g

Question Number : 163 Question Id : 92775914772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afIRad Yeg P Q TN o1 I<TE0 |
fifeer

Options :

Question Number : 163 Question Id : 92775914772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeIfad Treg P T T BT 3B B |
ffer

Options :

Question Number : 164 Question Id : 92775914773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T Teg D1 T 1A BT

EIE

Options :

1. % H[dddd




2. ¢ SIS

3. % JUaIdIED
4. % Hfadardd

Question Number : 164 Question Id : 92775914773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T 21eq 1 HT T PIfoTT
EIE]

Options :

1. # H[ddlddh

2. ¥ gdddh

3. % JYqgddd
4. % Hlqdrdd

Question Number : 165 Question Id : 92775914774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G TU I & g8’ S A1 9 g |
9% U1 & JI® g

Options :

1. ® fIears

2. ¢ (Aygars

3. % YIYaEDH

4. % YYdidd

Question Number : 165 Question Id : 92775914774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fqu T TR & <98’ B 91 9I5|
I8 U & T & |



Options :

1. % fygaras
2. ¢ Rygaras
3. % dYydrasdh
4. % YYdrdd

Question Number : 166 Question Id : 92775914775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & § o1 91 uaras AR B
Options :

1. ¥ qbhg

2. % dgd

3. ¥ P9

4. % Jg

Question Number : 166 Question Id : 92775914775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed # 3 &1 91 uaras R0 B
Options :

1. ¥ qbg

2. % wgd

3. % 99

4. % Jg

Question Number : 167 Question Id : 92775914776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 1 9199 Ui fobar o1 T8 g

Options :




1. # 3y W0 et ]

2. % gyId R SR |

3. % el gy Ui S g

4. ¢ T9b™ A G719 D1 SR R@md|

Question Number : 167 Question Id : 92775914776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 /ey TheHS a1 18! o
Options :

1. % T8 I edt g |

2. % JUd [T S8 €|

3. % el gy di<E g

4. ¢ f9HM A 77 &l R Rrardt|

Question Number : 168 Question Id : 92775914777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TQ wree &1 T fawe BT
dfed

Options :

1. % dg + fed
2. % g+fgd
3. ¢ dq+fga
4, % qq+f9a

Question Number : 168 Question Id : 92775914777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U et &1 TN fowdg wifomg|
dfgd



Options :

1. % a-cg+f€|?r
2. % g+faa
3. ¥ aq +fgd
4, % qq+1ad

Question Number : 169 Question Id : 92775914778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Yse F1d BT
3

Options :
1. % 0y
2. % 3l
3. % HAY
4. % 3{USI

Question Number : 169 Question Id : 92775914778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeH s F1d PITI
3T

Options :
1. %0y
2.9 39l
3. % HIS
4. % 3UGI

Question Number : 170 Question Id : 92775914779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



R Ty w2 a1 vafEErh e R
3iTe

Options :

1. % &

2. % Hg

3. % Sl

4. ¢ JHT

Question Number : 170 Question Id : 92775914779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T eg; BT yafTaT=l F1d B
3Te

Options :

1. % &u

2. % Hg

3. % Sl

4. ¢ JHT

Question Number : 171 Question Id : 92775914780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H & foIe IR 1 SIoTR § Yoft TR T el 82
Options :

1. ¢ a9

2. % gRAY

3. % 3dY

4. % IUfaR

Question Number : 171 Question Id : 92775914780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Y & T SUR 1 SToMR & YT @I 3T Hedrdl 82
Options :

1. ¢ =

2. % gAY

3. % 3dY

4. % IgHAY

Question Number : 172 Question Id : 92775914781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 9 Y& ad- &1 994 Sifod |
Options :

1. ¥ qare

2. % Qldcy

3. % gXlsctdr

4. % GRS

Question Number : 172 Question Id : 92775914781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & ¥ < ad- &1 99+ Hifor|
Options :

1. ¥ e

2. % 3Ided

3. % Qsqdr

4. % RIS

Question Number : 173 Question Id : 92775914782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied & @ ®F 1 2se g RE B
Options :

1. % ST -Ih

2. % 3R -_TRIY

3. % g9 -gW

4.« g4 - g

Question Number : 173 Question Id : 92775914782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & 9 &9 91 2rss | RE 5
Options :

1. % oM -3

2. % MR - TRig

3. % g8 -39

4. ¢ g - g

Question Number : 174 Question Id : 92775914783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u TTQ are & Rad ®IM &1 i siforg
g8 Il T T8l

Options :

1. % ®Haiy

2. ¥ Halfed

3. % fofrq

4. % I —hal

Question Number : 174 Question Id : 92775914783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faQ 7T areg ¥ e ®F &1 gfd S|
g8 Il T T8l

Options :

1. % Py

2. ¥ Halfed

3. % fdoferq

4. % gl - Hal

Question Number : 175 Question Id : 92775914784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu 2ree g 1 3rf Jra P
Pl Pelt

Options :

1. & T : QUYTHT

2. % AT 9T

3. % AT HH!

4, % AT 91U

Question Number : 175 Question Id : 92775914784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 1T 2z g &1 31 F1d BifoTT |
Pia: Pelt

Options :

1. & T : QUATHT

2. % ATHT : T

3. % J9AT: HHI

4. % AT HIUq

Question Number : 176 Question Id : 92775914785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U T a1 & Rad ®IH &t gfd Siforg|
foem W BT T T et

Options :

1. % HUR
2. % H U
3. ¢ & o

4. % & 3TUR

Question Number : 176 Question Id : 92775914785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 gff S
GE IS &1 M7 781 Bt

Options :

|. % $OR
2. % H UM
3.¢ & o

4. % & IR

Question Number : 177 Question Id : 92775914786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefead o ¥ 19 1 Wee, YT TS 7
Options :

1. ® qJHdH

2. % diud

3. % SRT

4. ¥ ald



Question Number : 177 Question Id : 92775914786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o 91 ¥sg fea T 781 g
Options :

1. # JHD

2. % giud

3. % SfRRT

4. ¢ QI

Question Number : 178 Question Id : 92775914787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T A IR A S e A YS &2
Options :

1. % HY &1 U &id TR Y|

2. % TR 91 TS 81 g ¢ |

3. ¢ HRI &1 U g o WRel 3

4. % AR YT R W R

Question Number : 178 Question Id : 92775914787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed A I PR AR S =D A LS &2
Options :

1. % T B Uh gid R T

2. % TR 91 TS 81 g ¢ |

3.« HR1 P T 319 H Wl B

4. % AR Y@ IR IR |

Question Number : 179 Question Id : 92775914788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafiRad g & B) eg H B I PR g
T @t A e Fod 1 5

Options :

1. % &dl

2. % HH

3. gy

4. % 3UTCH

Question Number : 179 Question Id : 92775914788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad g 7 @) Teg § oHF T RS g
T Bt AT Y ot a1 B

Options :

1. % &df

2. % HY

3. ¢ HdyY

4. % UG

Question Number : 180 Question Id : 92775914789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o 91 areg gof adq= &1 IeTer0r gl 8|

Options :

1. % g 9 o o ]

2. % OIS ecgd B MR

3. ¢ YT HH A 8 B g

4. % 3YS 3 Ul UTS Ug faran g




Question Number : 180 Question Id : 92775914789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o a1 areg gof adq= &1 3aer0 gl 8|
Options :

1. % gH HH R o gl

2. % fUQT STt T PR ST

3. ¢ YT HI H 8 B g

4. % AP = Ugll UT6 Ug feran g

General Hindi2
Group Number : 10
Group Id : 927759512
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 927759548
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 927759680
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775914790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T o 1 gfy I BT
TRT BT STeg] PR &l T

Options :

1. ¢ 3RS
2. % FAfFae
3. % Yhard
4. % JyaTd®

Question Number : 181 Question Id : 92775914790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ a1 Pt gy 1 I
TRT H1H Slea! B &l Tl

Options :

1. ¢ 3
2. % [Affas
3. % Ahaid
4. % JygTd®

Question Number : 182 Question Id : 92775914791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few TTg areR 1 vef 1 i
H 981 Ugd Y 3|

Options :



1. ¥ quf
2. % ™
3. % Faddidd

4. % 3Uf

Question Number : 182 Question Id : 92775914791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq 7T aTeR T gef J1d PifeT|
RRCRRRERI]

Options :

1. ¢ goul

2. %

3. % JaINYD

4. % 3qui

Question Number : 183 Question Id : 92775914792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied fre 7o & Iaeru 5

dH, Rl
Options :

1. % JYR
2. ¥ AYH
3. % 3TH
4. % 3

Question Number : 183 Question Id : 92775914792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed fea ou & Iaeru gl



dH, JReri

Options :
1. % gYH
2. HYH
3. % 31H
4. % 3

Question Number : 184 Question Id : 92775914793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g aa oA A e?
Options :

1. % g d AU I S|

2. % ggI W fHa AT Y|

3. % g §1d IR DI od ¢

4. ¢ 98 J91 TeRa fRBRT T

Question Number : 184 Question Id : 92775914793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafied & @ g T dH A2
Options :

1. % 99 AT SO G |

2. % GBI W fbar arT Y

3. % UG 91 HR Blg I 5|

4. ¢ 98 J81 JeRaH fRIBRT T

Question Number : 185 Question Id : 92775914794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad aTe &1 Sgad areg S I8




59 fam1 Aipersd @a g, 331 fea # 91 Heard |
Options :

1. % 59 B 91 HcdiHT dd Alb S T BRI

2. ¢ 59 Alps3 @ g dH # 91 Heard |

3. % 59 faT Al e W BN It & aTd deard |

4. % Alherdd TH 8l T & 3d: § a1 Hedrd |

Question Number : 185 Question Id : 92775914794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeRad oo &1 gad ared 1= 91 8|
fore fem Aepers @ g, 31 faA & a1d Heard |

Options :

1. % 59 H 91 HediHT dd AlbSr3- T gHTT|

2. ¢ Td Alb SIS T@H g dH # 91 Heard |

3. % 59 f&F Aidwers Wt gnm 3ufe & aTe dedraT|

4. % AlHer3d TH gl T g 3d: § 91 Heard |

Question Number : 186 Question Id : 92775914795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 fawed &1 999 &2 Sl fou T geTak & 3 &) 99y © 0 ¥ ad aidl |
gdoh! bl 811 IR g1 fdarg &1 A1fs |

Options :

1. % 309 R YR & a1
2. % 3 gg o fireg
3. ¢ A R RTS

4. % A W WA

Question Number : 186 Question Id : 92775914795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 faswed &1 999 &2 Sl foU U geTak & o &) 99y © 0 ¥ ad aidl |
qEHIH BN RS aare s e

Options :

1. % 3O R UURA & 91
2. % 3 gg o fireg
3. ¢ A R RTS

4. % U W RIS

Question Number : 187 Question Id : 92775914796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve ), fou 0 oR fawedl & 9, 39 fawen &1 997 & 7 foU U geTark & 31 ol Ya9% U § oJad HRdl ¢ |
3Idl Fafsar g1

Options :

1. ¢ I§W DI 1d g Y o &1

2. % YW DI I1d ASIGIP I S T
3. % {Y DI A R Y OH T

4. % WY O 1d fioR & 1@ 7

Question Number : 187 Question Id : 92775914796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve ¥, fou U oR fawedt & 9, 39 fawen &1 997 &3 1 fou U geTak & 31 ol Ya9% U § oJad Rl g |
REGIIEIRRICREIEEI

Options :

1. ¢ 38 P 91 g Y S T

2. % YW DI I1d AoIGIP I S o
3. % B DI 9 gX A O &1

4. % I P 91d fUSR H 39 <1




Question Number : 188 Question Id : 92775914797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefaa & @ o a1 favm fag sl e & =g forar man g2

Options :
1. ®

2

2. %

b

3.% 7

4.9 |

Question Number : 188 Question Id : 92775914797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed # 9 o= 91 favd fg Sidieit w9 =& foran i g2
Options :

1. =

b
2. %

3.% 7

4. ¢ |

Question Number : 189 Question Id : 92775914798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad ot & o1 91 favmm g &1 uanT g
FHIR gl & feaeer Ul

Options :

1. ¢ 3l

2. % DIFH

3. % AHddRul
4, % Sl Yo



Question Number : 189 Question Id : 92775914798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad area & o9 91 favm g &1 uanT g
FHaR amofi & feaee A1

Options :

1. ¥ 30

2. % DIYD

3. % AHJdRUT
4. % b1 gD

Question Number : 190 Question Id : 92775914799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed are & gr & d1e B 91 favm g s

el Ug HX T[T
Options :

1. % guf foR/

2. ¥ HIFD

3. ¢ fauqarieaiu®
4. % YdTEID

Question Number : 190 Question Id : 92775914799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed ot o g/ & a1 314 91 favm g S|
el Ug HX T

Options :

1. % gof for

2. % BIYD

3. ¢ fawanieays



4. * YHddDh

Question Number : 191 Question Id : 92775914800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feard R & foU T IR fasmed] & 3 fadhed &1 7o %R off 3T 7T geTar & 31 &1 Jd9% U I Fad Hdl |
o it Had AemehR fean g, Aims e ot =78 sik |

Options :

1. % g9 9 dR IoR 3
2. % S BTG BT

3. % gt gar o Tt

4.  TSHNT 3THH TR I¢ T

Question Number : 191 Question Id : 92775914800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # foU U IR fawed) & 39 fawed &1 999 &2 Sl fou T geTak & odf &) 99y 0 ¥ ad aidl |
o ot et Aemeh R T &, Tt freft oft =78 siR |

Options :

1. % fo9 9 dR FoR 3 &
2. % ST PTG BT

3. % g1 &l ga1 o T

4. ¢ TSHTT MU |R I¢ T

Question Number : 192 Question Id : 92775914801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafed ® 9 foa Meifad o1 s i o1 g 82
Options :

1. % foedl & UG 9§ BlhT el

2. % GIY B 1 SR T, Ue-ford bl RT |



3. % IR O TR WR U A Tt
4. 391 Y 91 38 T, BT 4 SlaM|

Question Number : 192 Question Id : 92775914801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafaa § @ fog Aeifad o1 e e &1 g g2
Options :

1. % fdeell & UFY 9§ BiebT Tl

2. % BIY HE Bl SRYT A1, Ue-ferd Pl BRY! 1|

3. % I ot T UR U 9 Tt

4. ¢ BT Y I IS T, BT HA S|

Question Number : 193 Question Id : 92775914802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 5 9, 39 fawed &1 999 o o1 fau 0 GgTak & 31 &1 a98 ¥ ¥ ad Rl 5|
AU BT IR g

Options :

1. % ORI g
2. % §GAHI G
3. % YET ST
4.« 3 BH

Question Number : 193 Question Id : 92775914802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy ), fou U IR fawedl & ¥, 39 fawen &1 997 &3 7 fou U geTark & 31 ol Ya9% U § oJad Rl g |
SISt &1 IR g

Options :

1. % gfyg




2. % gEATH g
3. % AT ST
4. oM

Question Number : 194 Question Id : 92775914803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed &1 9o 3 o1 fT 70 JETar & 31 &1 Jd9§ U ¥ oJad Hral g |
U SR T

Options :

1. ¢ SSIdGR BT

2. % Il A Al

3. % TS Y& AT

4, % ARSI gIHT

Question Number : 194 Question Id : 92775914803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 w0 B3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
U1 R ST

Options :

1. ¢ SSIIER B

2. % I AT

3. % TS Y& AT

4. % ARSI BT

Question Number : 195 Question Id : 92775914804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fau 70 aR fawedl 8§ 9§, 39 fawed &1 99 o S faU 0 GgTak & 31 &1 a98 T ¥ ad Rl g |
B FARAT §Te Bt |




Options :

1. % B & IR T9g Wi T 8|
2. ¥ YUl IR HAT

3. % RHM e W gHg T 8

4. % T=1 Afad HHt ST T8 |

Question Number : 195 Question Id : 92775914804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & §, 39 fawen &1 997 & 5 fou U geTak & 31 ol Yd9% U § ogad Rl g |
BT AR S7Te Ha-it |

Options :

1. % ®1 & IR g off T B

2. ¥ HYCYY] HGER BT

3. % WHH e & I A1 ]|

4. % o fad Hut a1 gl |

Sub-Section Number : 2
Sub-Section Id : 927759681
Question Shuffling Allowed : Yes

Question Id : 92775914805 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS TTRI T 77T | TTRIRT o TR OR Ui U faU 7T § | TRIT &1 9-gd b Ue adll U U9 & dR fdded! d 9 ¥e! fased g |

IS-STS THIS UYYT g3 5, T9-a9 i Toid Bt YHPT BT aig RI&db! = Sga [Ha1 g1 3111 & &= § 1 Siad Jedli 1 & & Todq
R R TR g 3 S 7 | adTH fRufa o Sita Yol & SRITA BT UR R1e! IR uga B S0 S g T &, FiTds 3Tl BT URAR
T o foTT SI[UN ! UTSRITE oIl SR Tel 38 71 ], STal 4 aIadh U Jdferd fadd o1 f1em o1 9 | e, faaeg sk d sm &
o1 aireet BT € | Riereb & &R foba1 ity R BTl a1 2 T8eh 8 | WUtk TR S Sl TR RIeehl b FISW &) Sigebled HFdhR IS
SIIERUI R & | TG db 1o S0 AIAT-fUa &t o H Rrefbi i ST <d 8 | 39 aF & BT fahdit 3+ 1 §1d] &1 3a-1 Hed -Ta! ad
oI o S Rt o1 a1l &1 off Ayl wHerd €1 Tnufiie Wk & B & fod fHa gid1 ¢ | I8! ®1d S § Sl Jed! o SR &1
ITH BT B 8 | 39 TR H DHI P W MideR 77 WR e Sl HIg ifhd o1 I8, B Tobd ¢ | 39 JHIT BT H IR TS aral UHTd




%Eﬁ?ﬂ%l 3{c: 39 1801 B ¥ SRR fR1&D1 1 30+ BT B BICT-BICT TIRS HUM FAT B 3749 Sitad Jed| BT SR HRAT
!

Sub questions

Question Number : 196 Question Id : 92775914806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T H gl U= o 311 T 82

Options :

1. % sl 1 QI

2. % URAR U &1 &l

3. ¥ Siiqd Gl @ & H BT gl

4. % T3 AP B R1en 3 F @

Question Number : 197 Question Id : 92775914807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B B =D N Rrerss oY a1 YT gt 82
Options :

1. % (U AT T citex JHH &l |

2. % g8 39 W T 96 $© AISTR BRI ¢
3. % Jg = GIAIUT &1 -Tg! dTgd |

4. ¢ I (T 3ef A B

Question Number : 198 Question Id : 92775914808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR Bt e J1d HifoTd |

Options :

1. % 3fTolehe] o fR1afh

2. ¢ A H R1grbT 1 it
3. % 3ax] g



4. % fRre &1 3RIa =u Rigre

Question Number : 199 Question Id : 92775914809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Yol &t TRITIT &1 FaraH Td I a1 S0 g2
Options :

1. % I8 UG oId al 30 RI&0 &7 TR BT & |

2. % ST RGA &1 DHell BT R JH |

3. % g gfedr &1d H Ul

4. d[cg DI |

Question Number : 200 Question Id : 92775914810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SiqH-edl 1 HRITIAT o o fRI&DT B o1 BT A2
Options :

1. % gg e fgmaqa faw 2

2. % T8 IIYH SHI DI TgH |

3. % g9 7 9t IR Y Sitait uer 2
4. ¢ F99 B Hify W HUN A

Question Id : 92775914805 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS TR T 7T 8 | TTRIi=T b SR WR Ui U faU U & | TR &1 e-ydas U T Ui Uy & IR fadbed! | 9 ¥al fdded |

S-STS THIS UYYT g3 5, 79-a9 T Toid Bt YHPT BT aig RIgd! 3 agat [Ba1 g1 31l & a= § 1} Siad Jedli 1 & & Todq
TR fRiefes UR 81 off STl 8 | aciaT R H St Hedl & Yo 1 HR Rigfepl IR Usd 1 SfUar 31 8 71 g, Riifeh 31l b1 URaAR
1D o ToTT GIUT B! UTSRITAT St TRAT a1 X8 7T §, W61 3§ S1adh Udh Udferd SAokdcd o1 1R1ef U1 o | e, faaea oRR A sm &
R aireef €T € 1 Riereb & &% a1 ity IR BTl a1 2D T8l 8 | TTufieh TR b Bl TR el b FISW &) sigebled HehR ST
SIIERUI R & | TG A 1o S0 AIAT-fUa &t a1 H Rrefabi i ST <d 8 | 39 aFf & BT fahdit 3+ &1 §1d] &1 3a-1 Hed ot ad
ST fo S Rl o1 a1l &1 off Ayl wHed €1 Tnufiies wR & ! & fod fda gidT 8 | 98! &1d S § Sl Jed! o SR &1




ITH BT B & | 39 AT H B & Wes MfadR 77 | e Sl UG Sifdrd H3A1 918, B Idhd & | 39 U &1 31 IR TS aral gHTd
ﬂsﬁ?ﬂ%ﬂ 3{cT: 39 1801 B H BRI FRI&D| B 3T B B BIC-BIC! IIRD HUM FAT B 31 Sitad Jed| BT SR HRAT
|

Sub questions

Question Number : 196 Question Id : 92775914806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JAH BTet | TRI&T O T 311 1 82
Options :

1. % Rl o1 gl

2. % URAR UTeH &1 GIRI

3. ¢ Siqd Gl o1 & HA BT &l
4. ® g H AT R Y T R

Question Number : 197 Question Id : 92775914807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 B 2B H feied Bt 1 YA Bt 32

Options :

1. % U AT T itex 9 &l |

2. % 98 31 IR 30T 96 $© ST IR &d g |
3. % 35 T GI&I0T &1 781 drgd |

4. ¥ 35 T 3R A & |

Question Number : 198 Question Id : 92775914808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUgEd TR Bt X J1d STy |
Options :

1. % 3fTolhd] & fRU&d

2. ¢ qaAH | el o1 i



3. % 3eRf frerm
4. % e o1 3fad =9 e

Question Number : 199 Question Id : 92775914809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Yol & TRITIAT &1 FaraH BTd O 31 T g2
Options :

1. % I8 JHY 51E aY 30 FRIe/07 T TR T B |

2. % S URaH B Dl BT YRl JHI |

3. % g gfedr &1d H ugA|

4. ¢ dIcg HId |

Question Number : 200 Question Id : 92775914810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-l &1 GRITIAT & ford FR1grp! &1 o1 dH=1 g e?
Options :

1. % 95 g fom aaH o ¢ |

2. % T8 IIYH BHI DI TgH |

3. % ggu= § g4 IR o1 Shat ugr 2

4.« F9U H ifd R HUTE FAL|



